BANK BRADESCO Form 6-K June 20, 2016

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of June, 2016 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In May 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

(x) Controller's

Group and Family Dependants

Openning Balance

Overatity	% of parti Same	cipation
Quantity	type of Shares	Total
2,028,821,219	80.3695	40.1847
62,644,292	2.4815	1.2407
	% of parti	cipation
Quantity	Same	
Quantity	type of	Total
	Shares	
2,028,821,219	80.3695	40.1847
62,644,292	2.4815	1.2407
	62,644,292 Quantity 2,028,821,219	Quantity Same type of Shares 2,028,821,219 80.3695 62,644,292 2.4815 Quantity Quantity Same type of Shares 2,028,821,219 80.3695

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM r

In May 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company:	: Banco	Bradesco S.A.	
----------	---------	---------------	--

Group and (x)Board
Family of () Board of Executive Officers
Dependants Directors

Openning Balance

Type of Securities/Derivatives

Non-Voting Shares

Common Shares

Month Movement

Type of Bro	ker	Operation	Day	Quant
Non-Voting Shares	Buy		5-May	
Non-Voting	Биу		5-iviay	
Shares	Buy		5-May	
Non-Voting	•		_	
Shares	Buy		5-May	
Non-Voting				
Shares	Buy		5-May	
Non-Voting				
Shares	Buy		5-May	
Non-Voting				
Shares	Buy		5-May	
Non-Voting				
Shares	Buy		5-May	
Non-Voting	_			
Shares	Buy		5-May	
Non-Voting				
Shares	Buy		5-May	
Non-Voting				1,
Shares	Buy		5-May	١,

()

Qι

Con

Non-Voting		
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	,	Cuy
Shares	Buy	5-May
Non-Voting	zay	o may
Shares	Buy	5-May
Non-Voting	Вау	5 May
Shares	Buy	5-May
Non-Voting	Биу	5-iviay
•	Dung	E Mov
Shares	Buy	5-May
Non-Voting	D	F.M.
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	•	·
Shares	Buy	5-May
Non-Voting	•	•
Shares	Buy	5-May
Non-Voting	,	- · · · · · · · · · · · · · · · · · · ·
Shares	Buy	5-May
Non-Voting	,	- · · · · · · · · · · · · · · · · · · ·
Shares	Buy	5-May
Non-Voting	23,	- may
Shares	Buy	5-May
Non-Voting	zay	o may
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Вау	5 May
Shares	Buy	5-May
Non-Voting	ьиу	5-iviay
Shares	Pun/	E May
	Buy	5-May
Non-Voting	Dun.	F 84
Shares	Buy	5-May
	Buy	5-May

2,

2,

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Бау	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
	Buy	5-May

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Бау	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May 5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares	Buy Buy	5-May 5-May

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Duy	J-Iviay
Shares	Buy	5-May
Non-Voting	Биу	5-iviay
Shares	Dung	5-May
	Buy	5-iviay
Non-Voting	Dung	E Mov
Shares Non-Voting	Buy	5-May
Shares	Dung	E Mov
	Buy	5-May
Non-Voting	D	E May
Shares	Buy	5-May
Non-Voting	Dung	E Mov
Shares	Buy	5-May
Non-Voting	D	E May
Shares	Buy	5-May
Non-Voting	D	Г M
Shares	Buy	5-May
Non-Voting	D	5 M
Shares	Buy	5-May
Non-Voting	Б	5 14
Shares	Buy	5-May
Non-Voting	Б	5 14
Shares	Buy	5-May
Non-Voting	Б	5 14
Shares	Buy	5-May
Non-Voting	Б.	- 14
Shares	Buy	5-May
Non-Voting	Б.	- 14
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
	Buy	5-May

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Бау	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares	Buy Buy	5-May 5-May

2,

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares	Buy Buy	5-May 5-May

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy -	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares	Buy Buy	5-May 5-May

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May 5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares	Buy Buy	5-May 5-May

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
	Buy	5-May

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May 5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares	Buy Buy	5-May 5-May

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Бау	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Бау	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares Non-Voting			
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares Non-Voting	Buy	5-1	May
Shares	Buy Buy		May May

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Бау	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares Non-Voting		
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May 5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares	Buy	5-May
Non-Voting Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares Non-Voting	Buy	5-May
Shares	Buy Buy	5-May 5-May

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Бау	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

Non-Voting Shares		
Non-Voting		
Shares	Buy	5-May
Non-Voting	Day	o may
Shares	Buy	5-May
Non-Voting	Bay	o may
Shares	Buy	5-May
Non-Voting	23,	·
Shares	Buy	5-May
Non-Voting	- 2,	·
Shares	Buy	5-May
Non-Voting	-,	,
Shares	Buy	5-May
Non-Voting	,	,
Shares	Buy	5-May
Non-Voting	ŕ	·
Shares	Buy	5-May
Non-Voting	·	·
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting		
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	_	
Shares	Buy	5-May
Non-Voting	0	5.M
Shares	Buy	5-May
Non-Voting	D	E Maria
Shares	Buy	5-May
Non-Voting	Dent	E Mov
Shares Non-Voting	Buy	5-May
Shares	Buy	5-May
Non-Voting	Биу	J-Iviay
Shares	Buy	5-May
Non-Voting	Day	3-iviay
Shares	Buy	5-May
Non-Voting	Day	3 May
Shares	Buy	5-May
3	Buy	5-May
	,	o may

		Eugai Filling. DANN BRADESCO - FUITI 6-N		
	Ion-Voting			
S	hares			
	Ion-Voting			
		Buy	5-May	ļ
	lon-Voting			ļ
		Buy	5-May	ļ
	lon-Voting			ļ
		Buy	5-May	
	lon-Voting	_		ļ
		Buy	5-May	
	lon-Voting	1	5 May	
	shares Bi Ion-Voting	Buy	5-May	
	•	Buy	5-May	
	lon-Voting	-uy	3-iviay	
	•	Buy	5-May	
	lon-Voting	dy	Ulviaj	
	<u> </u>	Buy	5-May	
	Ion-Voting	o,	O,	ļ
	•	Buy	5-May	
	Ion-Voting		•	
	•	Buy	5-May	
	Ion-Voting			
		Buy	5-May	
	lon-Voting			
		Buy	5-May	
	lon-Voting			
		Buy	5-May	
	lon-Voting	_		
		Buy	5-May	
	Ion-Voting Shares Bi	•	- May	
	nares ві Ion-Voting	Buy	5-May	
	<u> </u>	Buy	5-May	
	Ion-Voting	,uy	3-iviay	
	<u> </u>	Buy	5-May	
	lon-Voting	uy	Jiviaj	
	•	Buy	5-May	
	Ion-Voting	o,	·,	
	•	Total Total		118,
	Ion-Voting			-
		Sell	11-May	7,
	Ion-Voting			
		Sell	11-May	
	lon-Voting			_
		Total Control of the		7,
	Common	The state of the State of the State of		5,009,
		Shares Transfers Outside BM&FBOVESPA (Bradesco Book Entry Form)	13-May	-, -
	Common	Norma Transfera Outoida DM9 EDOVECDA (Prodocca Book Entry Form)	10 May	500,
3		Shares Transfers Outside BM&FBOVESPA (Bradesco Book Entry Form)	•	5 510

Total

5,510,

	Edgar Filing: BANK BRADESCO	- Form 6-K	
Common Shares Non-Voting			10 May 5,009,
Shares Non-Voting	Shares Transfers Outside BM&FBOVE	SPA (Bradesco Book Entry Form)	13-May ^{3,009} ,
Shares Non-Voting	Shares Transfers Outside BM&FBOVES	SPA (Bradesco Book Entry Form)	13-May 500,
Shares	Total		5,510,
Common Shares Common	Shares Transfers Outside BM&FBOVE	SPA (Bradesco Book Entry Form)	
Shares Common	Shares Transfers Outside BM&FBOVES	SPA (Bradesco Book Entry Form)	13-May ³⁸⁵ ,
Shares Non-Voting	Total		4,237,
Shares Non-Voting	Shares Transfers Outside BM&FBOVE	SPA (Bradesco Book Entry Form)	13-May ^{3,852} ,
Shares Non-Voting	Shares Transfers Outside BM&FBOVE	SPA (Bradesco Book Entry Form)	13-May
Shares	Total Closing Balance		4,237,
	Type of Securities/Derivatives		Qı
	Common Shares Non-Voting Shares		1 2

Company: Bradesco Leasing S.A. Arrendamento Mercantil

Group and (x)Board () Family () Board of Executive Officers of Con **Dependants Directors Openning Balance**

Type of Securities/Derivatives

Common Shares Non-Voting Shares **Closing Balance**

Type of Securities/Derivatives

Qι

Qι

Edgar Filing: BANK BRADESCO - Form 6-K

Common Shares Non-Voting Shares

Note:

New member who belong to the Board of Directors:

Nova Valonia S/A Part. e Investimentos - Controlled by Mr. João Aguiar Alvarez

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In May 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Company: Banco Bradesco S.A.							
Group and Family Dependants	()Board of Directors	(X) Board of E Office		() Audit Co	() Audit Committee		() Technical and Advisory Agencies	
		Openni	ng Baland	се				
						% of partic	ipation	
Туре	e of Securities/D	Derivatives		Quan	Quantity		Total	
	Common Sha	ares			87,432	0.0034	0.0017	
	Non-Voting Sh				2,951,559	0.1169	0.0584	
		Month	Movemen	nt				
Type of	Broker		_				-	
Securities/Derivative	es	Operation	Day	Quantity	Price	Value in	R\$	
Common Shares		Buy	27-May	1	25.70		R\$ 25.70	
Common Shares		Total	,	1			R\$ 25.70	
Non-Voting Shares		Buy	5-May	95	25.03	R\$	2,377.85	
Non-Voting Shares		Buy	5-May	94	25.04	R\$	2,353.76	
Non-Voting Shares		Buy	5-May	89	25.05		2,229.45	
Non-Voting Shares		Buy	5-May	75	25.07		1,880.25	
Non-Voting Shares		Buy	5-May	126	25.08	·	3,160.08	
Non-Voting Shares		Buy	5-May	101	25.09		2,534.09	
Non-Voting Shares		Buy	5-May	141	25.11	•	3,540.51	
Non-Voting Shares		Buy	5-May	84	25.12	•	2,110.08	
Non-Voting Shares		Buy	5-May	95	25.13	•	2,387.35	
Non-Voting Shares		Buy	5-May	886	25.14		2,274.04	
Non-Voting Shares		Buy	5-May	142	25.15	•	3,571.30	
Non-Voting Shares		Buy	5-May	24	25.16		\$ 603.84	
Non-Voting Shares		Buy	5-May	117	25.17	•	2,944.89	
Non-Voting Shares		Buy	5-May	1,201	25.18	•	0,241.18	
Non-Voting Shares		Buy	5-May	280	25.19	•	7,053.20	
Non-Voting Shares		Buy	5-May	535	25.20	•	3,482.00	
Non-Voting Shares		Buy	5-May	702	25.21		7,697.42	
Non-Voting Shares		Buy	5-May	302	25.22		7,616.44	
Non-Voting Shares Non-Voting Shares		Buy Buy	5-May 5-May	164 430	25.23 25.24	•	4,137.72 0,853.20	
· · · · · · · · · · · · · · · · · ·		• 7	,				,	

Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	129	25.26	R\$ 3,258.54
Non-Voting Shares	Buy	5-May	147	25.27	R\$ 3,714.69
Non-Voting Shares	Buy	5-May	113	25.28	R\$ 2,856.64
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	125	25.33	R\$ 3,166.25
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
<u> </u>	•	•	141	25.37	R\$ 3,577.17
Non-Voting Shares	Buy	5-May			
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	80	25.41	R\$ 2,032.80
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	-	5-May	74	25.78	R\$ 1,907.72
•	Buy	•			
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	46	25.88	R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40

Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	111	26.07	R\$ 2,893.77
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	67	26.15	R\$ 1,752.05
Non-Voting Shares	Buy	5-May	192	26.16	R\$ 5,022.72
Non-Voting Shares	Buy	5-May	374	26.17	R\$ 9,787.58
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	437	26.20	R\$ 11,449.40
Non-Voting Shares	Buy	5-May	186	26.21	R\$ 4,875.06
Non-Voting Shares	Buy	5-May	185	26.23	R\$ 4,852.55
Non-Voting Shares	Buy	5-May	16	26.26	R\$ 420.16
Non-Voting Shares	Buy	5-May	89	25.03	R\$ 2,227.67
Non-Voting Shares	Buy	5-May	94	25.04	R\$ 2,353.76
Non-Voting Shares	Buy	5-May	87	25.05	R\$ 2,179.35
Non-Voting Shares	Buy	5-May	70	25.07	R\$ 1,754.90
Non-Voting Shares	Buy	5-May	132	25.08	R\$ 3,310.56
Non-Voting Shares	Buy	5-May	101	25.09	R\$ 2,534.09
Non-Voting Shares	Buy	5-May	141	25.11	R\$ 3,540.51
Non-Voting Shares	Buy	5-May	84	25.11	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	97	25.12	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	888	25.13	R\$ 22,324.32
Non-Voting Shares	•	5-May	141	25.14	R\$ 3,546.15
Non-Voting Shares	Buy	•	23	25.16	R\$ 578.68
•	Buy	5-May	118	25.10	
Non-Voting Shares	Buy	5-May			R\$ 2,970.06
Non-Voting Shares	Buy	5-May	1,200	25.18	R\$ 30,216.00
Non-Voting Shares	Buy	5-May	280	25.19	R\$ 7,053.20
Non-Voting Shares	Buy	5-May	536	25.20	R\$ 13,507.20
Non-Voting Shares	Buy	5-May	708	25.21	R\$ 17,848.68
Non-Voting Shares	Buy	5-May	303	25.22	R\$ 7,641.66
Non-Voting Shares	Buy	5-May	163	25.23	R\$ 4,112.49
Non-Voting Shares	Buy	5-May	433	25.24	R\$ 10,928.92
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	146	25.27	R\$ 3,689.42
Non-Voting Shares	Buy	5-May	119	25.28	R\$ 3,008.32

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	5-May	199	25.29	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	134	25.30	R\$ 3,390.20
Non-Voting Shares	Buy	5-May	143	25.31	R\$ 3,619.33
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	145	25.37	R\$ 3,678.65
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.72	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	•	•	22	25.76	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.79	·
	Buy	5-May	4	25.84	R\$ 594.09 R\$ 103.36
Non-Voting Shares	Buy	5-May		25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	22		•
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	46	25.88	R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40

Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	67	26.15	R\$ 1,752.05
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	374	26.17	R\$ 9,787.58
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	437	26.20	R\$ 11,449.40
Non-Voting Shares	Buy	5-May	185	26.21	R\$ 4,848.85
Non-Voting Shares	Buy	5-May	186	26.23	R\$ 4,878.78
Non-Voting Shares	Buy	5-May	16	26.26	R\$ 420.16
Non-Voting Shares	Buy	5-May	96	25.03	R\$ 2,402.88
Non-Voting Shares	Buy	5-May	94	25.04	R\$ 2,353.76
Non-Voting Shares	Buy	5-May	89	25.05	R\$ 2,229.45
Non-Voting Shares	Buy	5-May	74	25.07	R\$ 1,855.18
Non-Voting Shares	Buy	5-May	126	25.08	R\$ 3,160.08
Non-Voting Shares	Buy	5-May	101	25.09	R\$ 2,534.09
Non-Voting Shares	Buy	5-May	141	25.11	R\$ 3,540.51
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	95	25.12	R\$ 2,387.35
Non-Voting Shares	Buy	5-May	887	25.14	R\$ 22,299.18
Non-Voting Shares	Buy	5-May	142	25.15	R\$ 3,571.30
Non-Voting Shares	Buy	5-May	22	25.16	R\$ 553.52
Non-Voting Shares	Buy	5-May	118	25.17	R\$ 2,970.06
Non-Voting Shares	Buy	5-May	1,199	25.17	R\$ 30,190.82
Non-Voting Shares	Buy	5-May	282	25.10	R\$ 7,103.58
Non-Voting Shares		5-May	535	25.19	R\$ 13,482.00
Non-Voting Shares	Buy	•	702	25.20	R\$ 17,697.42
_	Buy	5-May	301	25.21	R\$ 7,591.22
Non-Voting Shares	Buy	5-May	164	25.22	
Non-Voting Shares	Buy	5-May			R\$ 4,137.72
Non-Voting Shares	Buy	5-May	431	25.24	R\$ 10,878.44
Non-Voting Shares	Buy	5-May	70	25.25	R\$ 1,767.50
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	146	25.27	R\$ 3,689.42
Non-Voting Shares	Buy	5-May	115	25.28	R\$ 2,907.20
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	149	25.32	R\$ 3,772.68

Non-Voting Shares	Buy	5-May	125	25.33	R\$ 3,166.25
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	141	25.37	R\$ 3,577.17
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	35	25.72	R\$ 900.55
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
•	•	5-May	29	25.77	R\$ 747.33
Non-Voting Shares Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	· · · · · · · · · · · · · · · · · · ·	23	25.79	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
•	Buy	5-May			
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	46	25.88	R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04

Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	111	26.07	R\$ 2,893.77
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	374	26.17	R\$ 9,787.58
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	437	26.20	R\$ 11,449.40
Non-Voting Shares	Buy	5-May	186	26.21	R\$ 4,875.06
Non-Voting Shares	Buy	5-May	186	26.23	R\$ 4,878.78
Non-Voting Shares	Buy	5-May	15	26.26	R\$ 393.90
Non-Voting Shares	Buy	5-May	96	25.03	R\$ 2,402.88
Non-Voting Shares	Buy	5-May	94	25.04	R\$ 2,353.76
Non-Voting Shares	Buy	5-May	87	25.05	R\$ 2,179.35
Non-Voting Shares	Buy	5-May	75	25.07	R\$ 1,880.25
Non-Voting Shares	Buy	5-May	128	25.08	R\$ 3,210.24
Non-Voting Shares	Buy	5-May	101	25.09	R\$ 2,534.09
Non-Voting Shares	Buy	5-May	141	25.11	R\$ 3,540.51
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	94	25.13	R\$ 2,362.22
Non-Voting Shares	Buy	5-May	886	25.14	R\$ 22,274.04
Non-Voting Shares	Buy	5-May	140	25.15	R\$ 3,521.00
Non-Voting Shares	Buy	5-May	25	25.16	R\$ 629.00
Non-Voting Shares	Buy	5-May	117	25.17	R\$ 2,944.89
Non-Voting Shares	Buy	5-May	1,202	25.18	R\$ 30,266.36
Non-Voting Shares	Buy	5-May	280	25.19	R\$ 7,053.20
Non-Voting Shares	Buy	5-May	535	25.20	R\$ 13,482.00
Non-Voting Shares	Buy	5-May	702	25.21	R\$ 17,697.42
Non-Voting Shares	Buy	5-May	302	25.22	R\$ 7,616.44
Non-Voting Shares	Buy	5-May	164	25.22	R\$ 4,137.72
Non-Voting Shares	•	5-May	430	25.24	R\$ 10,853.20
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	129	25.26	R\$ 3,258.54
•	Buy	5-May	147	25.27	R\$ 3,714.69
Non-Voting Shares	Buy	•			
Non-Voting Shares	Buy	5-May	113	25.28	R\$ 2,856.64
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	125	25.33	R\$ 3,166.25
Non-Voting Shares	Buy	5-May	81	25.34	R\$ 2,052.54
Non-Voting Shares	Buy	5-May	111	25.35	R\$ 2,813.85
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44

	_				
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	80	25.41	R\$ 2,032.80
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
•	•	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	•	54	25.65	-
Non-Voting Shares	Buy	5-May			R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	46	25.88	R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
3	- ,	,			. ,=

Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	67	26.15	R\$ 1,752.05
Non-Voting Shares	Buy	5-May	192	26.16	R\$ 5,022.72
Non-Voting Shares	Buy	5-May	374	26.17	R\$ 9,787.58
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	437	26.20	R\$ 11,449.40
Non-Voting Shares	Buy	5-May	186	26.21	R\$ 4,875.06
Non-Voting Shares	Buy	5-May	185	26.23	R\$ 4,852.55
Non-Voting Shares	Buy	5-May	16	26.26	R\$ 420.16
Non-Voting Shares	Buy	5-May	98	25.03	R\$ 2,452.94
Non-Voting Shares	Buy	5-May	90	25.04	R\$ 2,253.60
Non-Voting Shares	Buy	5-May	86	25.05	R\$ 2,154.30
Non-Voting Shares	Buy	5-May	70	25.07	R\$ 1,754.90
Non-Voting Shares	Buy	5-May	132	25.08	R\$ 3,310.56
Non-Voting Shares	Buy	5-May	102	25.09	R\$ 2,559.18
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40
Non-Voting Shares	Buy	5-May	85	25.12	R\$ 2,135.20
Non-Voting Shares	Buy	5-May	96	25.13	R\$ 2,412.48
Non-Voting Shares	Buy	5-May	887	25.14	R\$ 22,299.18
Non-Voting Shares	Buy	5-May	142	25.15	R\$ 3,571.30
Non-Voting Shares	Buy	5-May	24	25.16	R\$ 603.84
Non-Voting Shares	Buy	5-May	117	25.17	R\$ 2,944.89
Non-Voting Shares	Buy	5-May	1,200	25.18	R\$ 30,216.00
Non-Voting Shares	Buy	5-May	282	25.19	R\$ 7,103.58
Non-Voting Shares	Buy	5-May	535	25.20	R\$ 13,482.00
Non-Voting Shares	Buy	5-May	703	25.21	R\$ 17,722.63
Non-Voting Shares	Buy	5-May	304	25.22	R\$ 7,666.88
Non-Voting Shares	Buy	5-May	163	25.23	R\$ 4,112.49
Non-Voting Shares	Buy	5-May	434	25.24	R\$ 10,954.16
Non-Voting Shares	Buy	5-May	66	25.25	R\$ 1,666.50
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	•	5-May	146	25.27	R\$ 3,689.42
Non-Voting Shares	Buy	•	119	25.28	R\$ 3,008.32
•	Buy	5-May		25.29	
Non-Voting Shares	Buy	5-May	199		R\$ 5,032.71
Non-Voting Shares	Buy	5-May	134	25.30	R\$ 3,390.20
Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	145	25.37	R\$ 3,678.65
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20

Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-May	23	25.83	R\$ 594.09
•	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	•	22	25.85	R\$ 568.70
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	19	25.86	R\$ 491.34
•	Buy		46	25.88	·
Non-Voting Shares	Buy	5-May			R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03

Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	89	26.14	R\$ 2,326.46
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	374	26.17	R\$ 9,787.58
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	437	26.20	R\$ 11,449.40
Non-Voting Shares	Buy	5-May	186	26.21	R\$ 4,875.06
Non-Voting Shares	Buy	5-May	186	26.23	R\$ 4,878.78
Non-Voting Shares	Buy	5-May	16	26.26	R\$ 420.16
Non-Voting Shares	Buy	5-May	91	25.03	R\$ 2,277.73
Non-Voting Shares	Buy	5-May	97	25.04	R\$ 2,428.88
Non-Voting Shares	Buy	5-May	85	25.05	R\$ 2,129.25
Non-Voting Shares	Buy	5-May	69	25.07	R\$ 1,729.83
Non-Voting Shares	Buy	5-May	134	25.08	R\$ 3,360.72
Non-Voting Shares	Buy	5-May	99	25.09	R\$ 2,483.91
Non-Voting Shares	Buy	5-May	139	25.11	R\$ 3,490.29
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	99	25.13	R\$ 2,487.87
Non-Voting Shares	Buy	5-May	488	25.14	R\$ 12,268.32
Non-Voting Shares	Buy	5-May	50	25.15	R\$ 1,257.50
Non-Voting Shares	Buy	5-May	22	25.16	R\$ 553.52
Non-Voting Shares	Buy	5-May	106	25.17	R\$ 2,668.02
Non-Voting Shares	Buy	5-May	119	25.18	R\$ 2,996.42
Non-Voting Shares	Buy	5-May	222	25.19	R\$ 5,592.18
Non-Voting Shares	Buy	5-May	537	25.20	R\$ 13,532.40
Non-Voting Shares	Buy	5-May	708	25.21	R\$ 17,848.68
Non-Voting Shares	Buy	5-May	298	25.22	R\$ 7,515.56
Non-Voting Shares	Buy	5-May	164	25.23	R\$ 4,137.72
Non-Voting Shares	Buy	5-May	436	25.24	R\$ 11,004.64
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
Non-Voting Shares	Buy	5-May	125	25.26	R\$ 3,157.50
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	114	25.28	R\$ 2,881.92
Non-Voting Shares	•	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy Buy	5-May	137	25.29	R\$ 3,466.10
Non-Voting Shares	•	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	•	146	25.32	R\$ 3,696.72
•	Buy	5-May			
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79 70	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12

Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	18	25.47	R\$ 458.46
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
_		5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	•		25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	33		· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares		5-May	110	26.07	R\$ 2,867.70
•	Buy	•			
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	163	26.10	R\$ 4,254.30
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	89	26.14	R\$ 2,326.46
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20

Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	373	26.17	R\$ 9,761.41
Non-Voting Shares	Buy	5-May	60	26.19	R\$ 1,571.40
Non-Voting Shares	Buy	5-May	160	26.20	R\$ 4,192.00
Non-Voting Shares	Buy	5-May	97	25.03	R\$ 2,427.91
Non-Voting Shares	Buy	5-May	94	25.04	R\$ 2,353.76
Non-Voting Shares	Buy	5-May	84	25.05	R\$ 2,104.20
Non-Voting Shares	Buy	5-May	74	25.07	R\$ 1,855.18
Non-Voting Shares	Buy	5-May	129	25.08	R\$ 3,235.32
Non-Voting Shares	Buy	5-May	102	25.09	R\$ 2,559.18
Non-Voting Shares	Buy	5-May	142	25.11	R\$ 3,565.62
Non-Voting Shares	Buy	5-May	83	25.12	R\$ 2,084.96
Non-Voting Shares	Buy	5-May	96	25.13	R\$ 2,412.48
Non-Voting Shares	Buy	5-May	488	25.14	R\$ 12,268.32
Non-Voting Shares	Buy	5-May	48	25.15	R\$ 1,207.20
Non-Voting Shares	Buy	5-May	24	25.16	R\$ 603.84
Non-Voting Shares	Buy	5-May	105	25.17	R\$ 2,642.85
Non-Voting Shares	Buy	5-May	121	25.18	R\$ 3,046.78
Non-Voting Shares	Buy	5-May	227	25.19	R\$ 5,718.13
Non-Voting Shares	Buy	5-May	533	25.20	R\$ 13,431.60
Non-Voting Shares	Buy	5-May	702	25.21	R\$ 17,697.42
Non-Voting Shares	Buy	5-May	300	25.22	R\$ 7,566.00
Non-Voting Shares	Buy	5-May	161	25.23	R\$ 4,062.03
Non-Voting Shares	Buy	5-May	438	25.24	R\$ 11,055.12
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	147	25.27	R\$ 3,714.69
Non-Voting Shares	Buy	5-May	116	25.28	R\$ 2,932.48
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-May	198	25.29	R\$ 5,007.42
•	Buy	5-May	139	25.29	R\$ 3,516.70
Non-Voting Shares	Buy	· · · · · · · · · · · · · · · · · · ·	141	25.30	R\$ 3,568.71
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	149	25.31	R\$ 3,772.68
_	Buy	•	123	25.32	R\$ 3,115.59
Non-Voting Shares	Buy	5-May			
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	24	25.43	R\$ 610.32
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73

	_				
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	35	25.73	R\$ 900.55
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	•	5-May	23	25.76	R\$ 593.17
Non-Voting Shares	Buy	•	22	25.79	
<u> </u>	Buy	5-May			R\$ 568.26
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	374	26.17	R\$ 9,787.58
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	161	26.20	R\$ 4,218.20
Non-Voting Shares	Buy	5-May	98	25.03	R\$ 2,452.94
Non-Voting Shares	Buy	5-May	90	25.03	R\$ 2,253.60
Non-Voting Shares	Buy	5-May	86	25.04	R\$ 2,154.30
Tion voling Shares	ьuy	J-iviay	00	20.00	1 (ψ 2, 104.00

Non-Voting Shares	Buy	5-May	70	25.07	R\$ 1,754.90
Non-Voting Shares	Buy	5-May	132	25.08	R\$ 3,310.56
Non-Voting Shares	Buy	5-May	101	25.09	R\$ 2,534.09
Non-Voting Shares	Buy	5-May	139	25.11	R\$ 3,490.29
Non-Voting Shares	Buy	5-May	86	25.12	R\$ 2,160.32
Non-Voting Shares	Buy	5-May	96	25.13	R\$ 2,412.48
Non-Voting Shares	Buy	5-May	887	25.14	R\$ 22,299.18
Non-Voting Shares	Buy	5-May	142	25.15	R\$ 3,571.30
Non-Voting Shares	Buy	5-May	24	25.16	R\$ 603.84
Non-Voting Shares	Buy	5-May	117	25.17	R\$ 2,944.89
Non-Voting Shares	Buy	5-May	1,201	25.18	R\$ 30,241.18
Non-Voting Shares	Buy	5-May	281	25.19	R\$ 7,078.39
Non-Voting Shares	Buy	5-May	535	25.20	R\$ 13,482.00
Non-Voting Shares	Buy	5-May	703	25.21	R\$ 17,722.63
Non-Voting Shares	Buy	5-May	304	25.22	R\$ 7,666.88
Non-Voting Shares	Buy	5-May	163	25.23	R\$ 4,112.49
Non-Voting Shares	Buy	5-May	434	25.24	R\$ 10,954.16
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
Non-Voting Shares	Buy	5-May	127	25.26	R\$ 3,208.02
Non-Voting Shares	Buy	5-May	146	25.27	R\$ 3,689.42
Non-Voting Shares	Buy	5-May	120	25.28	R\$ 3,033.60
Non-Voting Shares	Buy	5-May	198	25.29	R\$ 5,007.42
Non-Voting Shares	Buy	5-May	134	25.30	R\$ 3,390.20
Non-Voting Shares	Buy	5-May	143	25.31	R\$ 3,619.33
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	145	25.37	R\$ 3,678.65
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
•	•	•		25.41	· ·
Non-Voting Shares	Buy	5-May	79 70		R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30

	_				
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	71	25.71	R\$ 1,825.41
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	46	25.88	R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	•	5-May	26	25.09	R\$ 673.40
_	Buy	•		25.90	
Non-Voting Shares	Buy	5-May	28		R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	89	26.14	R\$ 2,326.46
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	374	26.17	R\$ 9,787.58
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	437	26.20	R\$ 11,449.40
Non-Voting Shares	Buy	5-May	186	26.21	R\$ 4,875.06
Non-Voting Shares	Buy	5-May	186	26.23	R\$ 4,878.78
Non-Voting Shares	Buy	5-May	16	26.26	R\$ 420.16
Non-Voting Shares	Buy	5-May	94	25.03	R\$ 2,352.82
Non-Voting Shares	Buy	5-May	94	25.04	R\$ 2,353.76
Non-Voting Shares	Buy	5-May	83	25.05	R\$ 2,079.15
Non-Voting Shares	Buy	5-May	69	25.07	R\$ 1,729.83
Non-Voting Shares	Buy	5-May	137	25.08	R\$ 3,435.96
Non-Voting Shares	Buy	5-May	98	25.09	R\$ 2,458.82
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40
. total g orial os	Day	O Ividy	1 10	_5.11	1 (φ 0,0 10.40

Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	99	25.13	R\$ 2,487.87
Non-Voting Shares	Buy	5-May	487	25.14	R\$ 12,243.18
Non-Voting Shares	Buy	5-May	52	25.15	R\$ 1,307.80
Non-Voting Shares	Buy	5-May	20	25.16	R\$ 503.20
Non-Voting Shares	Buy	5-May	106	25.17	R\$ 2,668.02
Non-Voting Shares	Buy	5-May	119	25.18	R\$ 2,996.42
Non-Voting Shares	Buy	5-May	222	25.19	R\$ 5,592.18
Non-Voting Shares	Buy	5-May	536	25.20	R\$ 13,507.20
Non-Voting Shares	Buy	5-May	709	25.21	R\$ 17,873.89
Non-Voting Shares	Buy	5-May	298	25.22	R\$ 7,515.56
Non-Voting Shares	Buy	5-May	165	25.23	R\$ 4,162.95
•	•	5-May	434	25.24	R\$ 10,954.16
Non-Voting Shares	Buy	•			
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	126	25.26	R\$ 3,182.76
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	113	25.28	R\$ 2,856.64
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	145	25.31	R\$ 3,669.95
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	18	25.47	R\$ 458.46
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	•	5-May	20	25.59	R\$ 511.80
•	Buy	•			
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12

Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	56	26.11	R\$ 1,462.16
Non-Voting Shares	Buy	5-May	89	26.14	R\$ 2,326.46
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	373	26.17	R\$ 9,761.41
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	161	26.20	R\$ 4,218.20
Non-Voting Shares	Buy	5-May	90	25.03	R\$ 2,252.70
Non-Voting Shares	Buy	5-May	98	25.04	R\$ 2,453.92
Non-Voting Shares	Buy	5-May	84	25.05	R\$ 2,104.20
Non-Voting Shares	Buy	5-May	69	25.07	R\$ 1,729.83
Non-Voting Shares	Buy	5-May	134	25.07	R\$ 3,360.72
Non-Voting Shares	Buy	5-May	99	25.00	R\$ 2,483.91
Non-Voting Shares	Buy	5-May	139	25.03	R\$ 3,490.29
Non-Voting Shares	Buy	5-May	84	25.11	R\$ 2,110.08
Non-Voting Shares	•	5-May	99	25.12	R\$ 2,487.87
•	Buy	•		25.13	
Non-Voting Shares	Buy	5-May	489 52	25.14 25.15	R\$ 12,293.46
Non-Voting Shares	Buy	5-May		25.15 25.16	R\$ 1,307.80
Non-Voting Shares	Buy	5-May	20		R\$ 503.20
Non-Voting Shares	Buy	5-May	106 119	25.17 25.18	R\$ 2,668.02
Non-Voting Shares	Buy	5-May	119	23.10	R\$ 2,996.42

Non-Voting Shares	Buy	5-May	222	25.19	R\$ 5,592.18
Non-Voting Shares	Buy	5-May	538	25.20	R\$ 13,557.60
Non-Voting Shares	Buy	5-May	708	25.21	R\$ 17,848.68
Non-Voting Shares	Buy	5-May	298	25.22	R\$ 7,515.56
Non-Voting Shares	Buy	5-May	164	25.23	R\$ 4,137.72
Non-Voting Shares	Buy	5-May	436	25.24	R\$ 11,004.64
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
Non-Voting Shares	Buy	5-May	126	25.26	R\$ 3,182.76
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	113	25.28	R\$ 2,856.64
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	136	25.30	R\$ 3,440.80
Non-Voting Shares	Buy	5-May	145	25.31	R\$ 3,669.95
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.42	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	•	•	19	25.47	R\$ 483.93
•	Buy	5-May 5-May	43	25.47	R\$ 1,096.50
Non-Voting Shares	Buy	•	81	25.50	
Non-Voting Shares Non-Voting Shares	Buy	5-May		25.51	R\$ 2,066.31 R\$ 484.88
•	Buy	5-May	19 41		·
Non-Voting Shares	Buy	5-May		25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09

Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	56	26.11	R\$ 1,462.16
Non-Voting Shares	Buy	5-May	89	26.14	R\$ 2,326.46
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	373	26.17	R\$ 9,761.41
	· · · · · · · · · · · · · · · · · · ·	5-May	59	26.17	R\$ 1,545.21
Non-Voting Shares	Buy	•	161	26.19	R\$ 4,218.20
Non-Voting Shares	Buy	5-May			
Non-Voting Shares	Buy	5-May	88	25.03	R\$ 2,202.64
Non-Voting Shares	Buy	5-May	96	25.04	R\$ 2,403.84
Non-Voting Shares	Buy	5-May	85	25.05	R\$ 2,129.25
Non-Voting Shares	Buy	5-May	68	25.07	R\$ 1,704.76
Non-Voting Shares	Buy	5-May	135	25.08	R\$ 3,385.80
Non-Voting Shares	Buy	5-May	100	25.09	R\$ 2,509.00
Non-Voting Shares	Buy	5-May	139	25.11	R\$ 3,490.29
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	100	25.13	R\$ 2,513.00
Non-Voting Shares	Buy	5-May	489	25.14	R\$ 12,293.46
Non-Voting Shares	Buy	5-May	51	25.15	R\$ 1,282.65
Non-Voting Shares	Buy	5-May	22	25.16	R\$ 553.52
Non-Voting Shares	Buy	5-May	104	25.17	R\$ 2,617.68
Non-Voting Shares	Buy	5-May	119	25.18	R\$ 2,996.42
Non-Voting Shares	Buy	5-May	222	25.19	R\$ 5,592.18
Non-Voting Shares	Buy	5-May	538	25.20	R\$ 13,557.60
Non-Voting Shares	Buy	5-May	708	25.21	R\$ 17,848.68
Non-Voting Shares	Buy	5-May	298	25.22	R\$ 7,515.56
Non-Voting Shares	Buy	5-May	164	25.23	R\$ 4,137.72
Non-Voting Shares	Buy	5-May	436	25.24	R\$ 11,004.64
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00

Non-Voting Shares	Buy	5-May	125	25.26	R\$ 3,157.50
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	114	25.28	R\$ 2,881.92
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	5-May	146	25.32	R\$ 3,696.72
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	•	5-May	108	25.39	R\$ 2,742.12
•	Buy	_			
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79 70	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	•	5-May	28	25.74 25.77	R\$ 721.56
Non-Voting Shares	Buy	•	75	25.77 25.78	
<u> </u>	Buy	5-May			R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57

	_				
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	66	26.09	R\$ 1,721.94
Non-Voting Shares	Buy	5-May	163	26.10	R\$ 4,254.30
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	67	26.15	R\$ 1,752.05
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	373	26.17	R\$ 9,761.41
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	160	26.20	R\$ 4,192.00
Non-Voting Shares	Buy	5-May	89	25.03	R\$ 2,227.67
Non-Voting Shares	Buy	5-May	97	25.04	R\$ 2,428.88
Non-Voting Shares	Buy	5-May	85	25.05	R\$ 2,129.25
Non-Voting Shares	Buy	5-May	68	25.07	R\$ 1,704.76
Non-Voting Shares	Buy	5-May	135	25.08	R\$ 3,385.80
Non-Voting Shares	Buy	5-May	99	25.09	R\$ 2,483.91
Non-Voting Shares	Buy	5-May	139	25.11	R\$ 3,490.29
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	99	25.13	R\$ 2,487.87
Non-Voting Shares	Buy	5-May	488	25.14	R\$ 12,268.32
Non-Voting Shares	Buy	5-May	50	25.15	R\$ 1,257.50
Non-Voting Shares	Buy	5-May	22	25.16	R\$ 553.52
Non-Voting Shares	Buy	5-May	106	25.17	R\$ 2,668.02
Non-Voting Shares	Buy	5-May	119	25.18	R\$ 2,996.42
Non-Voting Shares	Buy	5-May	222	25.19	R\$ 5,592.18
Non-Voting Shares	Buy	5-May	537	25.20	R\$ 13,532.40
Non-Voting Shares	Buy	5-May	708	25.21	R\$ 17,848.68
Non-Voting Shares	Buy	5-May	298	25.22	R\$ 7,515.56
Non-Voting Shares	Buy	5-May	164	25.23	R\$ 4,137.72
Non-Voting Shares	Buy	5-May	436	25.24	R\$ 11,004.64
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
Non-Voting Shares	Buy	5-May	125	25.26	R\$ 3,157.50
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	114	25.28	R\$ 2,881.92
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	148	25.30	R\$ 3,745.88
Non-Voting Shares	Buy	5-May	146	25.31	R\$ 3,696.72
Table Voting Orlands	Биу	Jiviay	170	20.02	1 (ψ 0,030.72

Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	•	5-May	22	25.42	R\$ 559.46
•	Buy	•	48	25.43	
Non-Voting Shares	Buy	5-May			R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	•	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	•	26	25.89	R\$ 673.14
•	Buy	5-May			
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05

	_				
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	66	26.09	R\$ 1,721.94
Non-Voting Shares	Buy	5-May	163	26.10	R\$ 4,254.30
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	89	26.14	R\$ 2,326.46
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	373	26.17	R\$ 9,761.41
Non-Voting Shares	Buy	5-May	60	26.19	R\$ 1,571.40
Non-Voting Shares	Buy	5-May	159	26.20	R\$ 4,165.80
Non-Voting Shares	•	5-May	92	25.03	R\$ 2,302.76
•	Buy	•	96	25.03	
Non-Voting Shares	Buy	5-May			R\$ 2,403.84
Non-Voting Shares	Buy	5-May	86	25.05	R\$ 2,154.30
Non-Voting Shares	Buy	5-May	69	25.07	R\$ 1,729.83
Non-Voting Shares	Buy	5-May	133	25.08	R\$ 3,335.64
Non-Voting Shares	Buy	5-May	99	25.09	R\$ 2,483.91
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40
Non-Voting Shares	Buy	5-May	85	25.12	R\$ 2,135.20
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	489	25.14	R\$ 12,293.46
Non-Voting Shares	Buy	5-May	50	25.15	R\$ 1,257.50
Non-Voting Shares	Buy	5-May	20	25.16	R\$ 503.20
Non-Voting Shares	Buy	5-May	108	25.17	R\$ 2,718.36
Non-Voting Shares	Buy	5-May	119	25.18	R\$ 2,996.42
Non-Voting Shares	Buy	5-May	226	25.19	R\$ 5,692.94
Non-Voting Shares	Buy	5-May	532	25.20	R\$ 13,406.40
Non-Voting Shares	Buy	5-May	709	25.21	R\$ 17,873.89
Non-Voting Shares	Buy	5-May	300	25.22	R\$ 7,566.00
Non-Voting Shares	Buy	5-May	164	25.23	R\$ 4,137.72
Non-Voting Shares	Buy	5-May	433	25.24	R\$ 10,928.92
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	145	25.27	R\$ 3,664.15
Non-Voting Shares	Buy	5-May	119	25.28	R\$ 3,008.32
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	133	25.30	R\$ 3,364.90
Non-Voting Shares	Buy	5-May	143	25.31	R\$ 3,619.33
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	85	25.34	R\$ 2,153.90
Non-Voting Shares	Buy	5-May	111	25.35	R\$ 2,813.85
Non-Voting Shares	Buy	5-May	128	25.36	R\$ 3,246.08
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
112 129 090	zay	Say		_5.55	Ψ =,, .=

Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	17	25.46	R\$ 432.82
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.72	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	•	5-May	22	25.79	R\$ 567.38
•	Buy	5-May	23	25.79	R\$ 594.09
Non-Voting Shares	Buy		23 4	25.83	R\$ 103.36
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	22	25.85	R\$ 568.70
•	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy				· ·
Non-Voting Shares	Buy	5-May	46	25.88	R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	111	26.07	R\$ 2,893.77
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56

Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	67	26.15	R\$ 1,752.05
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	374	26.17	R\$ 9,787.58
Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	161	26.20	R\$ 4,218.20
Non-Voting Shares	Buy	5-May	94	25.03	R\$ 2,352.82
Non-Voting Shares	Buy	5-May	94	25.04	R\$ 2,353.76
Non-Voting Shares	Buy	5-May	83	25.05	R\$ 2,079.15
Non-Voting Shares	Buy	5-May	69	25.07	R\$ 1,729.83
Non-Voting Shares	Buy	5-May	137	25.08	R\$ 3,435.96
Non-Voting Shares	Buy	5-May	98	25.09	R\$ 2,458.82
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	99	25.13	R\$ 2,487.87
Non-Voting Shares	Buy	5-May	487	25.14	R\$ 12,243.18
Non-Voting Shares	Buy	5-May	52	25.15	R\$ 1,307.80
Non-Voting Shares	Buy	5-May	20	25.16	R\$ 503.20
Non-Voting Shares	Buy	5-May	106	25.17	R\$ 2,668.02
Non-Voting Shares	Buy	5-May	119	25.18	R\$ 2,996.42
Non-Voting Shares	Buy	5-May	222	25.19	R\$ 5,592.18
Non-Voting Shares	Buy	5-May	536	25.20	R\$ 13,507.20
Non-Voting Shares	Buy	5-May	709	25.21	R\$ 17,873.89
Non-Voting Shares	Buy	5-May	298	25.22	R\$ 7,515.56
Non-Voting Shares	Buy	5-May	165	25.23	R\$ 4,162.95
Non-Voting Shares	Buy	5-May	434	25.24	R\$ 10,954.16
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	125	25.26	R\$ 3,157.50
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	114	25.28	R\$ 2,881.92
•	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares Non-Voting Shares		5-May	137	25.29	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	•	124	25.33	
•	Buy	5-May			R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28

Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	56	26.11	R\$ 1,462.16
Non-Voting Shares	Buy	5-May	89	26.14	R\$ 2,326.46
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	373	26.17	R\$ 9,761.41
Table Voting Orlands	Биу	Jiviay	070	20.17	1 (ψ 5,7 01.41

Non-Voting Shares	Buy	5-May	59	26.19	R\$ 1,545.21
Non-Voting Shares	Buy	5-May	161	26.20	R\$ 4,218.20
Non-Voting Shares	Buy	5-May	96	25.03	R\$ 2,402.88
Non-Voting Shares	Buy	5-May	93	25.04	R\$ 2,328.72
Non-Voting Shares	Buy	5-May	89	25.05	R\$ 2,229.45
Non-Voting Shares	Buy	5-May	74	25.07	R\$ 1,855.18
Non-Voting Shares	Buy	5-May	127	25.08	R\$ 3,185.16
Non-Voting Shares	Buy	5-May	100	25.09	R\$ 2,509.00
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40
Non-Voting Shares	Buy	5-May	85	25.12	R\$ 2,135.20
Non-Voting Shares	Buy	5-May	97	25.12	R\$ 2,437.61
•	•	•		25.13	
Non-Voting Shares	Buy	5-May	188		R\$ 4,726.32
Non-Voting Shares	Buy	5-May	33	25.15	R\$ 829.95
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	11	25.18	R\$ 276.98
Non-Voting Shares	Buy	5-May	52	25.19	R\$ 1,309.88
Non-Voting Shares	Buy	5-May	89	25.20	R\$ 2,242.80
Non-Voting Shares	Buy	5-May	392	25.21	R\$ 9,882.32
Non-Voting Shares	Buy	5-May	300	25.22	R\$ 7,566.00
Non-Voting Shares	Buy	5-May	165	25.23	R\$ 4,162.95
Non-Voting Shares	Buy	5-May	435	25.24	R\$ 10,979.40
Non-Voting Shares	Buy	5-May	66	25.25	R\$ 1,666.50
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	113	25.28	R\$ 2,856.64
Non-Voting Shares	Buy	5-May	199	25.29	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	142	25.30	R\$ 3,592.60
Non-Voting Shares	Buy	5-May	141	25.31	R\$ 3,568.71
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	122	25.33	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	86	25.34	R\$ 2,179.24
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	128	25.36	R\$ 3,246.08
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares		5-May	31	25.44	R\$ 788.95
•	Buy	•			
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97

	_				
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	•	5-May	22	25.79	R\$ 567.38
•	Buy	•		25.79	-
Non-Voting Shares	Buy	5-May	23		R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	51	26.03	R\$ 1,327.53
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	66	26.09	R\$ 1,721.94
Non-Voting Shares	Buy	5-May	163	26.10	R\$ 4,254.30
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	67	26.15	R\$ 1,752.05
Non-Voting Shares	Buy	5-May	192	26.16	R\$ 5,022.72
Non-Voting Shares	Buy	5-May	15	26.17	R\$ 392.55
Non-Voting Shares	Buy	5-May	97	25.03	R\$ 2,427.91
Non-Voting Shares	Buy	5-May	93	25.04	R\$ 2,328.72
Non-Voting Shares	Buy	5-May	87	25.05	R\$ 2,179.35
Non-Voting Shares	Buy	5-May	74	25.05	R\$ 1,855.18
•	•	•			R\$ 3,260.40
Non-Voting Shares	Buy	5-May	130	25.08	
Non-Voting Shares	Buy	5-May	100	25.09	R\$ 2,509.00
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40

Non-Voting Shares	Buy	5-May	85	25.12	R\$ 2,135.20
Non-Voting Shares	Buy	5-May	96	25.13	R\$ 2,412.48
Non-Voting Shares	Buy	5-May	187	25.14	R\$ 4,701.18
Non-Voting Shares	Buy	5-May	33	25.15	R\$ 829.95
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	11	25.18	R\$ 276.98
Non-Voting Shares	Buy	5-May	52	25.19	R\$ 1,309.88
Non-Voting Shares	Buy	5-May	89	25.20	R\$ 2,242.80
Non-Voting Shares	Buy	5-May	392	25.21	R\$ 9,882.32
Non-Voting Shares	Buy	5-May	300	25.22	R\$ 7,566.00
Non-Voting Shares	Buy	5-May	163	25.23	R\$ 4,112.49
Non-Voting Shares	Buy	5-May	435	25.24	R\$ 10,979.40
Non-Voting Shares	Buy	5-May	67	25.25	R\$ 1,691.75
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	113	25.28	R\$ 2,856.64
Non-Voting Shares	Buy	5-May	199	25.29	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	142	25.30	R\$ 3,592.60
Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	122	25.33	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	86	25.34	R\$ 2,179.24
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	128	25.36	R\$ 3,246.08
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
_	•	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	•	79	25.40	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	79 70	25.41	
Non-Voting Shares	Buy	5-May			R\$ 1,779.40 R\$ 559.46
Non-Voting Shares	Buy	5-May	22	25.43	· ·
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12

Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	51	26.03	R\$ 1,327.53
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	66	26.09	R\$ 1,721.94
Non-Voting Shares	Buy	5-May	163	26.10	R\$ 4,254.30
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	67	26.15	R\$ 1,752.05
Non-Voting Shares	Buy	5-May	192	26.16	R\$ 5,022.72
Non-Voting Shares	Buy	5-May	15	26.17	R\$ 392.55
Non-Voting Shares	Buy	5-May	94	25.03	R\$ 2,352.82
Non-Voting Shares	Buy	5-May	96	25.03	R\$ 2,403.84
Non-Voting Shares	•	5-May	86	25.04	R\$ 2,154.30
Non-Voting Shares	Buy	•	77	25.07	R\$ 1,930.39
Non-Voting Shares	Buy	5-May			
•	Buy	5-May	128 97	25.08	R\$ 3,210.24
Non-Voting Shares	Buy	5-May		25.09	R\$ 2,433.73
Non-Voting Shares	Buy	5-May	141	25.11	R\$ 3,540.51
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	98	25.13	R\$ 2,462.74
Non-Voting Shares	Buy	5-May	189	25.14	R\$ 4,751.46
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	35	25.17	R\$ 880.95
Non-Voting Shares	Buy	5-May	12	25.18	R\$ 302.16
Non-Voting Shares	Buy	5-May	52	25.19	R\$ 1,309.88
Non-Voting Shares	Buy	5-May	87	25.20	R\$ 2,192.40

	_				
Non-Voting Shares	Buy	5-May	394	25.21	R\$ 9,932.74
Non-Voting Shares	Buy	5-May	301	25.22	R\$ 7,591.22
Non-Voting Shares	Buy	5-May	164	25.23	R\$ 4,137.72
Non-Voting Shares	Buy	5-May	431	25.24	R\$ 10,878.44
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	129	25.26	R\$ 3,258.54
Non-Voting Shares	Buy	5-May	146	25.27	R\$ 3,689.42
Non-Voting Shares	Buy	5-May	114	25.28	R\$ 2,881.92
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	125	25.33	R\$ 3,166.25
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	•	5-May	141	25.37	R\$ 3,577.17
_	Buy	•	30	25.37	
Non-Voting Shares	Buy	5-May			R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79 70	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-voling Shares	ьuy	3-iviay	22	25.65	пф 506.70

Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	46	25.88	R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	16	26.17	R\$ 418.72
Non-Voting Shares	Buy	5-May	97	25.03	R\$ 2,427.91
Non-Voting Shares	Buy	5-May	94	25.04	R\$ 2,353.76
Non-Voting Shares	Buy	5-May	85	25.05	R\$ 2,129.25
Non-Voting Shares	Buy	5-May	75	25.07	R\$ 1,880.25
Non-Voting Shares	Buy	5-May	128	25.08	R\$ 3,210.24
Non-Voting Shares	Buy	5-May	98	25.09	R\$ 2,458.82
Non-Voting Shares	Buy	5-May	142	25.11	R\$ 3,565.62
Non-Voting Shares	Buy	5-May	83	25.12	R\$ 2,084.96
Non-Voting Shares	Buy	5-May	97	25.12	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	190	25.13	R\$ 4,776.60
Non-Voting Shares	Buy	5-May	32	25.14	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	•	•	35	25.10	R\$ 880.95
•	Buy	5-May	12	25.17	
Non-Voting Shares	Buy	5-May			R\$ 302.16
Non-Voting Shares	Buy	5-May	52	25.19	R\$ 1,309.88
Non-Voting Shares	Buy	5-May	87	25.20	R\$ 2,192.40
Non-Voting Shares	Buy	5-May	393	25.21	R\$ 9,907.53
Non-Voting Shares	Buy	5-May	303	25.22	R\$ 7,641.66
Non-Voting Shares	Buy	5-May	166	25.23	R\$ 4,188.18
Non-Voting Shares	Buy	5-May	433	25.24	R\$ 10,928.92
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
Non-Voting Shares	Buy	5-May	125	25.26	R\$ 3,157.50
Non-Voting Shares	Buy	5-May	149	25.27	R\$ 3,765.23
Non-Voting Shares	Buy	5-May	115	25.28	R\$ 2,907.20
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	5-May	138	25.30	R\$ 3,491.40
Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	28	25.38	R\$ 710.64
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	21	25.85	R\$ 542.85
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares		•	47		R\$ 1,216.36
Non-Voting Shares	Buy	5-May		25.88	
	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83

Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	56	26.11	R\$ 1,462.16
Non-Voting Shares	Buy	5-May	89	26.14	R\$ 2,326.46
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	16	26.17	R\$ 418.72
Non-Voting Shares	Buy	5-May	97	25.03	R\$ 2,427.91
Non-Voting Shares	Buy	5-May	95	25.04	R\$ 2,378.80
Non-Voting Shares	Buy	5-May	86	25.05	R\$ 2,154.30
Non-Voting Shares	Buy	5-May	74	25.07	R\$ 1,855.18
Non-Voting Shares	Buy	5-May	132	25.08	R\$ 3,310.56
Non-Voting Shares	Buy	5-May	97	25.09	R\$ 2,433.73
Non-Voting Shares	Buy	5-May	141	25.11	R\$ 3,540.51
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	96	25.12	R\$ 2,412.48
Non-Voting Shares	Buy	5-May	188	25.14	R\$ 4,726.32
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	35	25.10	R\$ 880.95
Non-Voting Shares	Buy	5-May	12	25.17	R\$ 302.16
•	•	5-May	52	25.10	R\$ 1,309.88
Non-Voting Shares Non-Voting Shares	Buy	5-May	87	25.19	R\$ 2,192.40
<u> </u>	Buy	•		25.20	
Non-Voting Shares	Buy	5-May	393		R\$ 9,907.53
Non-Voting Shares	Buy	5-May	301	25.22	R\$ 7,591.22
Non-Voting Shares	Buy	5-May	164	25.23	R\$ 4,137.72
Non-Voting Shares	Buy	5-May	431	25.24	R\$ 10,878.44
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	129	25.26	R\$ 3,258.54
Non-Voting Shares	Buy	5-May	146	25.27	R\$ 3,689.42
Non-Voting Shares	Buy	5-May	114	25.28	R\$ 2,881.92
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	125	25.33	R\$ 3,166.25
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	129	25.36	R\$ 3,271.44
Non-Voting Shares	Buy	5-May	141	25.37	R\$ 3,577.17
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40

Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.72	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.74	R\$ 747.33
Non-Voting Shares	•		74	25.78	R\$ 1,907.72
<u> </u>	Buy	5-May 5-May	22	25.76	R\$ 567.38
Non-Voting Shares	Buy		23	25.83	-
Non-Voting Shares Non-Voting Shares	Buy	5-May	23 4	25.84	R\$ 594.09 R\$ 103.36
•	Buy	5-May	22		-
Non-Voting Shares	Buy	5-May		25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	46	25.88	R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70

Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	162	26.10	R\$ 4,228.20
Non-Voting Shares	Buy	5-May	55	26.11	R\$ 1,436.05
Non-Voting Shares	Buy	5-May	90	26.14	R\$ 2,352.60
Non-Voting Shares	Buy	5-May	68	26.15	R\$ 1,778.20
Non-Voting Shares	Buy	5-May	191	26.16	R\$ 4,996.56
Non-Voting Shares	Buy	5-May	16	26.17	R\$ 418.72
Non-Voting Shares	Buy	5-May	13	25.08	R\$ 326.04
Non-Voting Shares	Buy	5-May	86	25.09	R\$ 2,157.74
Non-Voting Shares	Buy	5-May	143	25.11	R\$ 3,590.73
Non-Voting Shares	Buy	5-May	82	25.12	R\$ 2,059.84
Non-Voting Shares	Buy	5-May	89	25.13	R\$ 2,236.57
Non-Voting Shares	Buy	5-May	10	25.14	R\$ 251.40
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	48	25.19	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	80	25.20	R\$ 2,016.00
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	29	25.23	R\$ 731.67
Non-Voting Shares	Buy	5-May	273	25.24	R\$ 6,890.52
Non-Voting Shares	Buy	5-May	71	25.25	R\$ 1,792.75
Non-Voting Shares	Buy	5-May	125	25.26	R\$ 3,157.50
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	118	25.28	R\$ 2,983.04
Non-Voting Shares	Buy	5-May	198	25.29	R\$ 5,007.42
Non-Voting Shares	Buy	5-May	139	25.29	R\$ 3,516.70
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	146	25.32	R\$ 3,696.72
Non-Voting Shares	Buy	5-May	123	25.32	R\$ 3,115.59
•		•	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May			
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78 70	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73

Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	21	25.85	R\$ 542.85
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
_	•		26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.90	-
Non-Voting Shares	Buy	5-May			R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	59	25.94	R\$ 1,530.46
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	59	26.07	R\$ 1,538.13
Non-Voting Shares	Buy	5-May	5	25.18	R\$ 125.90
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares	Buy	5-May	71	25.20	R\$ 1,789.20
Non-Voting Shares	Buy	5-May	43	25.21	R\$ 1,084.03
Non-Voting Shares	Buy	5-May	26	25.22	R\$ 655.72
Non-Voting Shares	Buy	5-May	30	25.23	R\$ 756.90
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	37	25.26	R\$ 934.62
Non-Voting Shares	Buy	5-May	19	25.27	R\$ 480.13
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	139	25.30	R\$ 3,516.70
~	•	•			•

Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	143	25.32	R\$ 3,620.76
Non-Voting Shares	Buy	5-May	127	25.33	R\$ 3,216.91
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	106	25.39	R\$ 2,691.34
Non-Voting Shares	Buy	5-May	25	25.40	R\$ 635.00
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	•	5-May	23	25.42	R\$ 584.89
•	Buy	•			
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	34	25.70	R\$ 873.80
Non-Voting Shares	Buy	5-May	71	25.71	R\$ 1,825.41
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	35	25.73	R\$ 900.55
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	-	5-May	47	25.88	R\$ 1,216.36
J	Buy	•			
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	54	25.94	R\$ 1,400.76
Non-Voting Shares	Buy	5-May	26	25.09	R\$ 652.34
Non-Voting Shares	Buy	5-May	58	25.11	R\$ 1,456.38

Non-Voting Shares	Buy	5-May	75	25.12	R\$ 1,884.00
Non-Voting Shares	Buy	5-May	4	25.13	R\$ 100.52
Non-Voting Shares	Buy	5-May	10	25.14	R\$ 251.40
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	79	25.20	R\$ 1,990.80
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	29	25.23	R\$ 731.67
Non-Voting Shares	Buy	5-May	54	25.24	R\$ 1,362.96
Non-Voting Shares	Buy	5-May	41	25.25	R\$ 1,035.25
Non-Voting Shares	Buy	5-May	124	25.26	R\$ 3,132.24
Non-Voting Shares	Buy	5-May	151	25.27	R\$ 3,815.77
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	134	25.30	R\$ 3,390.20
Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	32	25.38	R\$ 812.16
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	79	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.42	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.43	R\$ 1,170.24
9	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares Non-Voting Shares		•	19	25.45	· · · · · · · · · · · · · · · · · · ·
•	Buy	5-May			R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12

Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	71	26.05	R\$ 1,849.55
Non-Voting Shares	Buy	5-May	1	25.18	R\$ 25.18
Non-Voting Shares	Buy	5-May	1	25.20	R\$ 25.20
Non-Voting Shares	Buy	5-May	10	25.23	R\$ 252.30
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	37	25.26	R\$ 934.62
Non-Voting Shares	Buy	5-May	9	25.27	R\$ 227.43
Non-Voting Shares	Buy	5-May	26	25.28	R\$ 657.28
Non-Voting Shares	Buy	5-May	85	25.29	R\$ 2,149.65
Non-Voting Shares	Buy	5-May	138	25.29	R\$ 3,491.40
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	122	25.32	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	85	25.34	R\$ 2,153.90
Non-Voting Shares	•	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	•	145	25.37	
Non-Voting Shares	Buy	5-May	26		R\$ 3,678.65
•	Buy	5-May		25.38	R\$ 659.88
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79 70	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	45	25.44	R\$ 1,144.80
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74

Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	4	25.89	R\$ 103.56
Non-Voting Shares	Buy	5-May	5	25.18	R\$ 125.90
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares	Buy	5-May	71	25.20	R\$ 1,789.20
Non-Voting Shares	Buy	5-May	43	25.21	R\$ 1,084.03
Non-Voting Shares	Buy	5-May	26	25.22	R\$ 655.72
Non-Voting Shares	Buy	5-May	30	25.23	R\$ 756.90
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	37	25.26	R\$ 934.62
Non-Voting Shares	Buy	5-May	19	25.27	R\$ 480.13
Non-Voting Shares	•	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	139	25.29	R\$ 3,516.70
Non-Voting Shares	Buy	•		25.30	
•	Buy	5-May	144		R\$ 3,644.64
Non-Voting Shares	Buy	5-May	143	25.32	R\$ 3,620.76
Non-Voting Shares	Buy	5-May	127	25.33	R\$ 3,216.91
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	106	25.39	R\$ 2,691.34
Non-Voting Shares	Buy	5-May	25	25.40	R\$ 635.00

	_				
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	•	5-May	55	25.65	R\$ 1,410.75
<u> </u>	Buy	•		25.66	
Non-Voting Shares	Buy	5-May	105		R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	34	25.70	R\$ 873.80
Non-Voting Shares	Buy	5-May	71	25.71	R\$ 1,825.41
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	35	25.73	R\$ 900.55
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	54	25.94	R\$ 1,400.76
Non-Voting Shares	Buy	5-May	25	25.09	R\$ 627.25
Non-Voting Shares	Buy	5-May	59	25.11	R\$ 1,481.49
Non-Voting Shares	Buy	5-May	75	25.12	R\$ 1,884.00
Non-Voting Shares	Buy	5-May	4	25.13	R\$ 100.52
Non-Voting Shares	Buy	5-May	9	25.14	R\$ 226.26
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares	Buy	5-May	77	25.20	R\$ 1,940.40
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
. total g orial os	Bay	Unitary	7-7	_5.21	1.ψ 1,100.24

Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	30	25.23	R\$ 756.90
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	42	25.25	R\$ 1,060.50
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	147	25.27	R\$ 3,714.69
Non-Voting Shares	Buy	5-May	115	25.28	R\$ 2,907.20
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	139	25.30	R\$ 3,516.70
Non-Voting Shares	Buy	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	5-May	144	25.32	R\$ 3,646.08
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	31	25.38	R\$ 786.78
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
14011 Voting Onales	ьиу	J-iviay	13	20.00	ι ψ +31.04

Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	72	26.05	R\$ 1,875.60
Non-Voting Shares	Buy	5-May	1	25.04	R\$ 25.04
Non-Voting Shares	Buy	5-May	10	25.05	R\$ 250.50
Non-Voting Shares	Buy	5-May	51	25.07	R\$ 1,278.57
Non-Voting Shares	Buy	5-May	131	25.08	R\$ 3,285.48
Non-Voting Shares	Buy	5-May	99	25.09	R\$ 2,483.91
Non-Voting Shares	Buy	5-May	143	25.11	R\$ 3,590.73
Non-Voting Shares	Buy	5-May	82	25.12	R\$ 2,059.84
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	39	25.14	R\$ 980.46
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	48	25.19	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	80	25.20	R\$ 2,016.00
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	99	25.23	R\$ 2,497.77
Non-Voting Shares	Buy	5-May	433	25.24	R\$ 10,928.92
Non-Voting Shares	Buy	5-May	71	25.25	R\$ 1,792.75
Non-Voting Shares	Buy	5-May	125	25.26	R\$ 3,157.50
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	118	25.28	R\$ 2,983.04
Non-Voting Shares	•	•	198	25.29	R\$ 5,007.42
•	Buy	5-May			R\$ 3,516.70
Non-Voting Shares	Buy	5-May	139 144	25.30 25.31	
Non-Voting Shares	Buy	5-May			R\$ 3,644.64
Non-Voting Shares	Buy	5-May	145	25.32	R\$ 3,671.40
Non-Voting Shares	Buy	5-May	125	25.33	R\$ 3,166.25
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98

Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	24	25.43	R\$ 610.32
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	•	5-May	37	25.71	R\$ 951.64
•	Buy	5-May	34	25.72	R\$ 874.82
Non-Voting Shares	Buy	•			·
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29 75	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	21	25.85	R\$ 542.85
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	59	25.94	R\$ 1,530.46
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	55	26.10	R\$ 1,435.50
=	•	•			

Non-Voting Shares	Buy	5-May	10	25.05	R\$ 250.50
Non-Voting Shares	Buy	5-May	51	25.07	R\$ 1,278.57
Non-Voting Shares	Buy	5-May	133	25.08	R\$ 3,335.64
Non-Voting Shares	Buy	5-May	97	25.09	R\$ 2,433.73
Non-Voting Shares	Buy	5-May	142	25.11	R\$ 3,565.62
Non-Voting Shares	Buy	5-May	83	25.12	R\$ 2,084.96
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	39	25.14	R\$ 980.46
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	79	25.20	R\$ 1,990.80
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	28	25.22	R\$ 706.16
Non-Voting Shares	Buy	5-May	100	25.23	R\$ 2,523.00
Non-Voting Shares	Buy	5-May	432	25.24	R\$ 10,903.68
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	127	25.26	R\$ 3,208.02
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	118	25.28	R\$ 2,983.04
Non-Voting Shares	Buy	5-May	199	25.29	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	139	25.30	R\$ 3,516.70
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	122	25.33	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	•	5-May	108	25.35	R\$ 2,737.80
<u> </u>	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	· ·	143	25.37	
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	27	25.37 25.38	R\$ 3,627.91 R\$ 685.26
<u> </u>	Buy	•	109	25.39	
Non-Voting Shares	Buy	5-May			R\$ 2,767.51
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78 70	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	24	25.43	R\$ 610.32
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10

	_				
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	21	25.85	R\$ 542.85
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	•	5-May	47	25.88	R\$ 1,216.36
<u> </u>	Buy	•	25	25.89	
Non-Voting Shares	Buy	5-May		25.69 25.90	R\$ 647.25
Non-Voting Shares	Buy	5-May	26		R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	55	26.10	R\$ 1,435.50
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	48	25.19	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	75	25.20	R\$ 1,890.00
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	28	25.23	R\$ 706.44
Non-Voting Shares	Buy	5-May	52	25.24	R\$ 1,312.48
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	35	25.26	R\$ 884.10
Non-Voting Shares	Buy	5-May	21	25.27	R\$ 530.67
Non-Voting Shares	•	5-May	116	25.28	R\$ 2,932.48
<u> </u>	Buy	•			
Non-Voting Shares	Buy	5-May	199	25.29 25.30	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	141	25.30	R\$ 3,567.30
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	145	25.32	R\$ 3,671.40
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59

Non-Voting Shares	Buy	5-May	86	25.34	R\$ 2,179.24
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	28	25.38	R\$ 710.64
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	7	25.64	R\$ 179.48
Non-Voting Shares	Buy	5-May	, 55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	•	•	71	25.70	R\$ 1,825.41
•	Buy	5-May 5-May	37	25.71	R\$ 951.64
Non-Voting Shares	Buy	•	34	25.72	R\$ 874.82
Non-Voting Shares Non-Voting Shares	Buy	5-May	20	25.73 25.74	-
•	Buy	5-May	29	25.74 25.77	R\$ 514.80
Non-Voting Shares	Buy	5-May			R\$ 747.33
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	54	25.94	R\$ 1,400.76
Non-Voting Shares	Buy	5-May	1	25.03	R\$ 25.03
Non-Voting Shares	Buy	5-May	4	25.05	R\$ 100.20
Non-Voting Shares	Buy	5-May	10	25.07	R\$ 250.70
Non-Voting Shares	Buy	5-May	73	25.08	R\$ 1,830.84
Non-Voting Shares	Buy	5-May	100	25.09	R\$ 2,509.00

	_			~=	54.55.5
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40
Non-Voting Shares	Buy	5-May	85	25.12	R\$ 2,135.20
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	28	25.14	R\$ 703.92
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares	Buy	5-May	77	25.20	R\$ 1,940.40
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	31	25.23	R\$ 782.13
Non-Voting Shares	Buy	5-May	387	25.24	R\$ 9,767.88
Non-Voting Shares	Buy	5-May	67	25.25	R\$ 1,691.75
Non-Voting Shares	Buy	5-May	130	25.26	R\$ 3,283.80
Non-Voting Shares	Buy	5-May	146	25.27	R\$ 3,689.42
Non-Voting Shares	Buy	5-May	120	25.28	R\$ 3,033.60
Non-Voting Shares	•	•	199	25.29	R\$ 5,032.71
•	Buy	5-May		25.29	
Non-Voting Shares	Buy	5-May	132		R\$ 3,339.60
Non-Voting Shares	Buy	5-May	143	25.31	R\$ 3,619.33
Non-Voting Shares	Buy	5-May	149	25.32	R\$ 3,772.68
Non-Voting Shares	Buy	5-May	125	25.33	R\$ 3,166.25
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	30	25.45	R\$ 763.50
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	82	25.51	R\$ 2,091.82
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	•	5-May	22	25.67 25.68	R\$ 564.96
_	Buy	•			
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10

	_				
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	•	5-May	27	25.92	R\$ 700.11
	Buy	•		25.93	
Non-Voting Shares	Buy	5-May	60		R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	7	26.09	R\$ 182.63
Non-Voting Shares	Buy	5-May	5	25.18	R\$ 125.90
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares	Buy	5-May	71	25.20	R\$ 1,789.20
Non-Voting Shares	Buy	5-May	43	25.21	R\$ 1,084.03
Non-Voting Shares	Buy	5-May	26	25.22	R\$ 655.72
Non-Voting Shares	Buy	5-May	30	25.23	R\$ 756.90
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	37	25.26	R\$ 934.62
Non-Voting Shares	Buy	5-May	19	25.27	R\$ 480.13
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	139	25.30	R\$ 3,516.70
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	143	25.32	R\$ 3,620.76
Non-Voting Shares	Buy	5-May	127	25.33	R\$ 3,216.91
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
112 129 3	zay	oay	30	_5.55	φ . σ ι σ

Non-Voting Shares	Buy	5-May	106	25.39	R\$ 2,691.34
Non-Voting Shares	Buy	5-May	25	25.40	R\$ 635.00
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	34	25.70	R\$ 873.80
Non-Voting Shares	Buy	5-May	71	25.71	R\$ 1,825.41
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	35	25.72	R\$ 900.55
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.74	R\$ 747.33
Non-Voting Shares	•		74	25.78	R\$ 1,907.72
•	Buy	5-May 5-May	22	25.76	R\$ 567.38
Non-Voting Shares	Buy		23	25.79	-
Non-Voting Shares Non-Voting Shares	Buy	5-May	23 4	25.84	R\$ 594.09 R\$ 103.36
•	Buy	5-May	22		-
Non-Voting Shares	Buy	5-May		25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	54	25.94	R\$ 1,400.76
Non-Voting Shares	Buy	5-May	25	25.09	R\$ 627.25
Non-Voting Shares	Buy	5-May	58	25.11	R\$ 1,456.38
Non-Voting Shares	Buy	5-May	75	25.12	R\$ 1,884.00
Non-Voting Shares	Buy	5-May	5	25.13	R\$ 125.65
Non-Voting Shares	Buy	5-May	8	25.14	R\$ 201.12
Non-Voting Shares	Buy	5-May	33	25.15	R\$ 829.95
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31

Non-Voting Shares	Buy	5-May	78	25.20	R\$ 1,965.60
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	29	25.23	R\$ 731.67
Non-Voting Shares	Buy	5-May	54	25.24	R\$ 1,362.96
Non-Voting Shares	Buy	5-May	42	25.25	R\$ 1,060.50
Non-Voting Shares	Buy	5-May	124	25.26	R\$ 3,132.24
Non-Voting Shares	Buy	5-May	151	25.27	R\$ 3,815.77
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	135	25.30	R\$ 3,415.50
Non-Voting Shares	Buy	5-May	143	25.31	R\$ 3,619.33
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	31	25.38	R\$ 786.78
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-May	42	25.50	R\$ 1,071.00
•	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy		19	25.51	R\$ 484.88
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	41	25.52	R\$ 1,046.73
•	Buy	•	21	25.53	
Non-Voting Shares	Buy	5-May			R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20

Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	59	25.94	R\$ 1,530.46
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	71	26.05	R\$ 1,849.55
Non-Voting Shares	Buy	5-May	1	25.07	R\$ 25.07
Non-Voting Shares	Buy	5-May	31	25.08	R\$ 777.48
Non-Voting Shares	Buy	5-May	98	25.09	R\$ 2,458.82
Non-Voting Shares	Buy	5-May	142	25.11	R\$ 3,565.62
Non-Voting Shares	Buy	5-May	83	25.12	R\$ 2,084.96
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	15	25.14	R\$ 377.10
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	79	25.20	R\$ 1,990.80
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	28	25.22	R\$ 706.16
Non-Voting Shares	Buy	5-May	29	25.23	R\$ 731.67
Non-Voting Shares	Buy	5-May	318	25.24	R\$ 8,026.32
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	149	25.27	R\$ 3,765.23
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	•	5-May	200	25.29	R\$ 5,058.00
•	Buy	•	135	25.29	R\$ 3,415.50
Non-Voting Shares Non-Voting Shares	Buy	5-May			
•	Buy	5-May	145	25.31	R\$ 3,669.95
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	122	25.33	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39

Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	30	25.45	R\$ 763.50
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	82	25.51	R\$ 2,091.82
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.52	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
•	•	•	20	25.57	
Non-Voting Shares	Buy	5-May			R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares		5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	•	4	26.00	R\$ 104.04
•	Buy	5-May			
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	104	26.07	R\$ 2,711.28
Non-Voting Shares	Buy	5-May	4	25.23	R\$ 100.92
Non-Voting Shares	Buy	5-May	24	25.24	R\$ 605.76
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25

Non-Voting Shares	Buy	5-May	35	25.26	R\$ 884.10
Non-Voting Shares	Buy	5-May	12	25.27	R\$ 303.24
Non-Voting Shares	Buy	5-May	26	25.28	R\$ 657.28
Non-Voting Shares	Buy	5-May	48	25.29	R\$ 1,213.92
Non-Voting Shares	Buy	5-May	140	25.30	R\$ 3,542.00
Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	149	25.32	R\$ 3,772.68
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	81	25.34	R\$ 2,052.54
Non-Voting Shares	Buy	5-May	111	25.35	R\$ 2,813.85
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	71	25.42	R\$ 1,804.82
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	29	25.45	R\$ 738.05
Non-Voting Shares	Buy	5-May	20	25.46	R\$ 509.20
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.52	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	•	5-May	21	25.59	R\$ 537.39
•	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	•	8	25.62	R\$ 205.12
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	54	25.65	R\$ 1,385.10
•	Buy		106	25.66	
Non-Voting Shares	Buy	5-May			R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	16	25.88	R\$ 414.08
Non-Voting Shares	Buy	5-May	1	25.22	R\$ 25.22
Non-Voting Shares	Buy	5-May	4	25.23	R\$ 100.92
Non-Voting Shares	Buy	5-May	24	25.24	R\$ 605.76

	_		_		54 007 07
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	35	25.26	R\$ 884.10
Non-Voting Shares	Buy	5-May	12	25.27	R\$ 303.24
Non-Voting Shares	Buy	5-May	24	25.28	R\$ 606.72
Non-Voting Shares	Buy	5-May	52	25.29	R\$ 1,315.08
Non-Voting Shares	Buy	5-May	136	25.30	R\$ 3,440.80
Non-Voting Shares	Buy	5-May	146	25.31	R\$ 3,695.26
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	•	5-May	107	25.39	R\$ 2,716.73
_	Buy	•	23	25.39 25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May			•
Non-Voting Shares	Buy	5-May	79 70	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	45	25.44	R\$ 1,144.80
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.70	R\$ 1,851.12
<u> </u>	•	•	36	25.72	
Non-Voting Shares	Buy	5-May			R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	17	25.88	R\$ 439.96
Non-Voting Shares	Buy	5-May	1	25.03	R\$ 25.03
Non-Voting Shares	Buy	5-May	26	25.09	R\$ 652.34

Non-Voting Shares	Buy	5-May	57	25.11	R\$ 1,431.27
Non-Voting Shares	Buy	5-May	75	25.12	R\$ 1,884.00
Non-Voting Shares	Buy	5-May	4	25.13	R\$ 100.52
Non-Voting Shares	Buy	5-May	10	25.14	R\$ 251.40
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	79	25.20	R\$ 1,990.80
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	26	25.22	R\$ 655.72
Non-Voting Shares	Buy	5-May	29	25.23	R\$ 731.67
Non-Voting Shares	Buy	5-May	54	25.24	R\$ 1,362.96
Non-Voting Shares	Buy	5-May	41	25.25	R\$ 1,035.25
Non-Voting Shares	Buy	5-May	124	25.26	R\$ 3,132.24
Non-Voting Shares	Buy	5-May	151	25.27	R\$ 3,815.77
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	133	25.30	R\$ 3,364.90
Non-Voting Shares	Buy	5-May	141	25.31	R\$ 3,568.71
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	32	25.38	R\$ 812.16
Non-Voting Shares	•		107	25.39	R\$ 2,716.73
•	Buy	5-May 5-May	22	25.39	R\$ 558.80
Non-Voting Shares	Buy		79	25.40 25.41	
Non-Voting Shares	Buy	5-May	79 70	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May			R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10

Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	38	25.97	R\$ 986.86
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	71	26.05	R\$ 1,849.55
Non-Voting Shares	Buy	5-May	2	25.04	R\$ 50.08
Non-Voting Shares	Buy	5-May	11	25.05	R\$ 275.55
Non-Voting Shares	Buy	5-May	51	25.07	R\$ 1,278.57
Non-Voting Shares	Buy	5-May	128	25.08	R\$ 3,210.24
Non-Voting Shares	Buy	5-May	100	25.09	R\$ 2,509.00
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40
Non-Voting Shares	Buy	5-May	85	25.12	R\$ 2,135.20
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	39	25.14	R\$ 980.46
Non-Voting Shares	Buy	5-May	32	25.14	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	•	5-May	6	25.17	R\$ 151.08
Non-Voting Shares	Buy	5-May	48	25.10	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	80	25.19	R\$ 2,016.00
•	Buy	5-May		25.20	R\$ 1,033.61
Non-Voting Shares	Buy	•	41		
Non-Voting Shares	Buy	5-May	28	25.22	R\$ 706.16
Non-Voting Shares	Buy	5-May	100	25.23	R\$ 2,523.00
Non-Voting Shares	Buy	5-May	435	25.24	R\$ 10,979.40
Non-Voting Shares	Buy	5-May	67	25.25	R\$ 1,691.75
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	113	25.28	R\$ 2,856.64
Non-Voting Shares	Buy	5-May	199	25.29	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	142	25.30	R\$ 3,592.60

Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	122	25.33	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	86	25.34	R\$ 2,179.24
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	128	25.36	R\$ 3,246.08
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	•	•	81	25.67	R\$ 2,079.27
•	Buy	5-May 5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	•	33	25.70	-
Non-Voting Shares Non-Voting Shares	Buy	5-May	72	25.70	R\$ 848.10
•	Buy	5-May	36		R\$ 1,851.12
Non-Voting Shares	Buy	5-May		25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63

	_				
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	51	26.03	R\$ 1,327.53
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	55	26.10	R\$ 1,435.50
Non-Voting Shares	Buy	5-May	4	25.23	R\$ 100.92
Non-Voting Shares	Buy	5-May	24	25.24	R\$ 605.76
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	35	25.26	R\$ 884.10
Non-Voting Shares	Buy	5-May	12	25.27	R\$ 303.24
Non-Voting Shares	Buy	5-May	26	25.28	R\$ 657.28
Non-Voting Shares	Buy	5-May	48	25.29	R\$ 1,213.92
Non-Voting Shares	•	5-May	140	25.29	R\$ 3,542.00
•	Buy	•			
Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	149	25.32	R\$ 3,772.68
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	81	25.34	R\$ 2,052.54
Non-Voting Shares	Buy	5-May	111	25.35	R\$ 2,813.85
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	71	25.42	R\$ 1,804.82
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	29	25.45	R\$ 738.05
Non-Voting Shares	Buy	5-May	20	25.46	R\$ 509.20
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
. total g charos	Day	Unitary	, _	_5.7 1	11ψ 1,001.12

Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	16	25.88	R\$ 414.08
Non-Voting Shares	Buy	5-May	1	25.19	R\$ 25.19
Non-Voting Shares	Buy	5-May	2	25.28	R\$ 50.56
Non-Voting Shares	Buy	5-May	6	25.29	R\$ 151.74
Non-Voting Shares	Buy	5-May	16	25.30	R\$ 404.80
Non-Voting Shares	Buy	5-May	27	25.31	R\$ 683.37
Non-Voting Shares	Buy	5-May	18	25.32	R\$ 455.76
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	112	25.35	R\$ 2,839.20
Non-Voting Shares	Buy	5-May	128	25.36	R\$ 3,246.08
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	80	25.41	R\$ 2,032.80
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	24	25.43	R\$ 610.32
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	29	25.45	R\$ 738.05
Non-Voting Shares	Buy	5-May	20	25.46	R\$ 509.20
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	40	25.52	R\$ 1,021.20
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	•	•	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
•	Buy	5-May	8	25.64	• •
Non-Voting Shares	Buy	5-May			R\$ 205.12 R\$ 1,385.10
Non-Voting Shares	Buy	5-May	54	25.65	• •
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	20	25.72	R\$ 514.40
Non-Voting Shares	Buy	5-May	25	25.09	R\$ 627.25
Non-Voting Shares	Buy	5-May	59	25.11	R\$ 1,481.49
Non-Voting Shares	Buy	5-May	75	25.12	R\$ 1,884.00

Non-Voting Shares	Buy	5-May	4	25.13	R\$ 100.52
Non-Voting Shares	Buy	5-May	9	25.14	R\$ 226.26
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares	Buy	5-May	77	25.20	R\$ 1,940.40
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	30	25.23	R\$ 756.90
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	42	25.25	R\$ 1,060.50
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	147	25.27	R\$ 3,714.69
Non-Voting Shares	Buy	5-May	115	25.28	R\$ 2,907.20
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	139	25.30	R\$ 3,516.70
Non-Voting Shares	Buy	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	5-May	144	25.32	R\$ 3,646.08
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	31	25.38	R\$ 786.78
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.42	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.43	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
_			19	25.46	-
Non-Voting Shares	Buy	5-May			R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92

Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	72	26.05	R\$ 1,875.60
Non-Voting Shares	Buy	5-May	26	25.09	R\$ 652.34
Non-Voting Shares	Buy	5-May	59	25.11	R\$ 1,481.49
Non-Voting Shares	Buy	5-May	75	25.12	R\$ 1,884.00
Non-Voting Shares	Buy	5-May	4	25.13	R\$ 100.52
Non-Voting Shares	Buy	5-May	9	25.14	R\$ 226.26
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares	Buy	5-May	77	25.20	R\$ 1,940.40
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	30	25.23	R\$ 756.90
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	41	25.25	R\$ 1,035.25
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	147	25.27	R\$ 3,714.69
Non-Voting Shares	Buy	5-May	115	25.28	R\$ 2,907.20
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	138	25.29	R\$ 3,491.40
Non-Voting Shares	•	5-May	147	25.31	R\$ 3,720.57
•	Buy	•			
Non-Voting Shares	Buy	5-May	144	25.32	R\$ 3,646.08
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16

Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	31	25.38	R\$ 786.78
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.72	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 594.09
		•		25.84	-
Non-Voting Shares	Buy	5-May	4		R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	72	26.05	R\$ 1,875.60

Non-Voting Shares	Buy	5-May	26	25.09	R\$ 652.34
Non-Voting Shares	Buy	5-May	58	25.11	R\$ 1,456.38
Non-Voting Shares	Buy	5-May	75	25.12	R\$ 1,884.00
Non-Voting Shares	Buy	5-May	4	25.13	R\$ 100.52
Non-Voting Shares	Buy	5-May	10	25.14	R\$ 251.40
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	78	25.20	R\$ 1,965.60
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	29	25.23	R\$ 731.67
Non-Voting Shares	Buy	5-May	54	25.24	R\$ 1,362.96
Non-Voting Shares	Buy	5-May	41	25.25	R\$ 1,035.25
Non-Voting Shares	Buy	5-May	124	25.26	R\$ 3,132.24
Non-Voting Shares	Buy	5-May	151	25.27	R\$ 3,815.77
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	134	25.30	R\$ 3,390.20
Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	32	25.38	R\$ 812.16
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.52	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares		5-May	21	25.59	R\$ 537.39
•	Buy	•		25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	59		
Non-Voting Shares	Buy	5-May	8 55	25.64 25.65	R\$ 205.12
Non-Voting Shares	Buy	5-May	55 105	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96

	_				
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	59	25.94	R\$ 1,530.46
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	4	26.04	R\$ 104.16
Non-Voting Shares	Buy	5-May	71	26.05	R\$ 1,849.55
Non-Voting Shares	Buy	5-May	2	25.05	R\$ 50.10
Non-Voting Shares	Buy	5-May	12	25.07	R\$ 300.84
Non-Voting Shares	Buy	5-May	75	25.08	R\$ 1,881.00
Non-Voting Shares	Buy	5-May	100	25.09	R\$ 2,509.00
Non-Voting Shares	Buy	5-May	139	25.11	R\$ 3,490.29
Non-Voting Shares	Buy	5-May	86	25.12	R\$ 2,160.32
Non-Voting Shares	Buy	5-May	98	25.13	R\$ 2,462.74
Non-Voting Shares	Buy	5-May	26	25.14	R\$ 653.64
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	5	25.16	R\$ 125.80
Non-Voting Shares	Buy	5-May	34	25.17	R\$ 855.78
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares	Buy	5-May	77	25.20	R\$ 1,940.40
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	31	25.23	R\$ 782.13
Non-Voting Shares	Buy	5-May	390	25.24	R\$ 9,843.60
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
•	•	•	126	25.26	
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	148	25.26 25.27	R\$ 3,182.76 R\$ 3,739.96
_	Buy	•	114	25.27 25.28	
Non-Voting Shares	Buy	5-May			R\$ 2,881.92
Non-Voting Shares	Buy	5-May	201	25.29 25.30	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	136	25.30	R\$ 3,440.80

Non-Voting Shares	Buy	5-May	147	25.31	R\$ 3,720.57
Non-Voting Shares	Buy	5-May	146	25.32	R\$ 3,696.72
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	128	25.36	R\$ 3,246.08
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
•	•	•	79	25.42	
Non-Voting Shares	Buy	5-May			R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	•	•	26	25.89	R\$ 673.14
_	Buy	5-May			
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63

Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	51	26.03	R\$ 1,327.53
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	58	26.08	R\$ 1,512.64
Non-Voting Shares	Buy	5-May	7	26.09	R\$ 182.63
Non-Voting Shares	Buy	5-May	1	25.03	R\$ 25.03
Non-Voting Shares	Buy	5-May	9	25.08	R\$ 225.72
Non-Voting Shares	Buy	5-May	90	25.09	R\$ 2,258.10
Non-Voting Shares	Buy	5-May	142	25.11	R\$ 3,565.62
Non-Voting Shares	Buy	5-May	82	25.12	R\$ 2,059.84
Non-Voting Shares	Buy	5-May	89	25.13	R\$ 2,236.57
Non-Voting Shares	Buy	5-May	9	25.14	R\$ 226.26
Non-Voting Shares	Buy	5-May	33	25.15	R\$ 829.95
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	48	25.19	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	80	25.20	R\$ 2,016.00
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	27	25.23	R\$ 681.21
Non-Voting Shares	Buy	5-May	278	25.24	R\$ 7,016.72
Non-Voting Shares	Buy	5-May	67	25.25	R\$ 1,691.75
Non-Voting Shares	Buy	5-May	129	25.26	R\$ 3,258.54
Non-Voting Shares	Buy	5-May	147	25.27	R\$ 3,714.69
Non-Voting Shares	Buy	5-May	116	25.28	R\$ 2,932.48
Non-Voting Shares	Buy	5-May	199	25.29	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	138	25.30	R\$ 3,491.40
Non-Voting Shares	Buy	5-May	141	25.31	R\$ 3,568.71
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	77	25.41	R\$ 1,956.57
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.42	R\$ 584.89
Non-Voting Shares	•	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy Buy	5-May	31	25.44	R\$ 788.95
•	•	•			
Non-Voting Shares	Buy	5-May	19	25.46 25.47	R\$ 483.74
Non-Voting Shares	Buy	5-May	20		R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00

Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	35	25.73	R\$ 900.55
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	21	25.85	R\$ 542.85
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	59	25.94	R\$ 1,530.46
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	213	26.05	R\$ 5,548.65
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	59	26.07	R\$ 1,538.13
Non-Voting Shares	Buy	5-May	12	25.08	R\$ 300.96
Non-Voting Shares	Buy	5-May	88	25.09	R\$ 2,207.92
Non-Voting Shares	Buy	5-May	140	25.11	R\$ 3,515.40
Non-Voting Shares	Buy	5-May	85	25.12	R\$ 2,135.20
Non-Voting Shares	Buy	5-May	89	25.13	R\$ 2,236.57
Non-Voting Shares	Buy	5-May	9	25.14	R\$ 226.26
Non-Voting Shares	Buy	5-May	32	25.14	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.17	R\$ 151.08
Tion voling Shales	ьuy	J-iviay	O	20.10	1 (ψ 131.06

Non-Voting Shares	Buy	5-May	48	25.19	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	81	25.20	R\$ 2,041.20
Non-Voting Shares	Buy	5-May	41	25.21	R\$ 1,033.61
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	29	25.23	R\$ 731.67
Non-Voting Shares	Buy	5-May	276	25.24	R\$ 6,966.24
Non-Voting Shares	Buy	5-May	68	25.25	R\$ 1,717.00
Non-Voting Shares	Buy	5-May	127	25.26	R\$ 3,208.02
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	113	25.28	R\$ 2,856.64
Non-Voting Shares	Buy	5-May	199	25.29	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	142	25.30	R\$ 3,592.60
Non-Voting Shares	Buy	5-May	141	25.31	R\$ 3,568.71
Non-Voting Shares	Buy	5-May	149	25.32	R\$ 3,772.68
Non-Voting Shares	Buy	5-May	122	25.33	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	30	25.45	R\$ 763.50
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	5-May	20	25.47	R\$ 509.40
•	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	•	82 82	25.50	R\$ 2,091.82
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	19	25.51	R\$ 484.88
•	Buy	•	41	25.52	· ·
Non-Voting Shares	Buy	5-May			R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09

Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	51	26.03	R\$ 1,327.53
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	60	26.07	R\$ 1,564.20
Non-Voting Shares	Buy	5-May	4	25.23	R\$ 100.92
Non-Voting Shares	Buy	5-May	24	25.24	R\$ 605.76
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	35	25.26	R\$ 884.10
Non-Voting Shares	Buy	5-May	12	25.27	R\$ 303.24
Non-Voting Shares	Buy	5-May	26	25.28	R\$ 657.28
Non-Voting Shares	Buy	5-May	48	25.29	R\$ 1,213.92
Non-Voting Shares	Buy	5-May	140	25.29	R\$ 3,542.00
Non-Voting Shares	•	5-May	142	25.31	R\$ 3,594.02
•	Buy	5-May	149	25.31	R\$ 3,772.68
Non-Voting Shares	Buy	•	123	25.32	R\$ 3,115.59
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	81	25.33	R\$ 2,052.54
•	Buy			25.34	R\$ 2,813.85
Non-Voting Shares	Buy	5-May	111		
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	71	25.42	R\$ 1,804.82
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	45	25.44	R\$ 1,144.80
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40

Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	28	25.77	R\$ 721.56
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	16	25.88	R\$ 414.08
Non-Voting Shares	Buy	5-May	1	25.03	R\$ 25.03
Non-Voting Shares	Buy	5-May	10	25.05	R\$ 250.50
Non-Voting Shares	Buy	5-May	54	25.07	R\$ 1,353.78
Non-Voting Shares	Buy	5-May	131	25.08	R\$ 3,285.48
Non-Voting Shares	Buy	5-May	97	25.09	R\$ 2,433.73
Non-Voting Shares	Buy	5-May	141	25.11	R\$ 3,540.51
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	39	25.14	R\$ 980.46
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	79	25.20	R\$ 1,990.80
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	28	25.22	R\$ 706.16
Non-Voting Shares	Buy	5-May	101	25.23	R\$ 2,548.23
Non-Voting Shares	Buy	5-May	431	25.24	R\$ 10,878.44
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	129	25.26	R\$ 3,258.54
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
•		5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	•			
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	135	25.30	R\$ 3,415.50
Non-Voting Shares	Buy	5-May	146	25.31	R\$ 3,695.26
Non-Voting Shares	Buy	5-May	145	25.32	R\$ 3,671.40
Non-Voting Shares	Buy	5-May	121	25.33	R\$ 3,064.93
Non-Voting Shares	Buy	5-May	86	25.34	R\$ 2,179.24
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	128	25.36	R\$ 3,246.08

	_				
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
G	•	5-May	41	25.52	R\$ 1,046.73
Non-Voting Shares	Buy	•			
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	•	5-May	22	25.85	R\$ 568.70
——————————————————————————————————————	Buy	•			
Non-Voting Shares	Buy	5-May	19	25.86 25.88	R\$ 491.34
Non-Voting Shares	Buy	5-May	46 26		R\$ 1,190.48
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
ŭ	•	•			• •

Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	56	26.10	R\$ 1,461.60
Non-Voting Shares	Buy	5-May	10	25.05	R\$ 250.50
Non-Voting Shares	Buy	5-May	52	25.07	R\$ 1,303.64
Non-Voting Shares	Buy	5-May	132	25.08	R\$ 3,310.56
Non-Voting Shares	Buy	5-May	97	25.09	R\$ 2,433.73
Non-Voting Shares	Buy	5-May	141	25.11	R\$ 3,540.51
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	39	25.14	R\$ 980.46
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	79	25.20	R\$ 1,990.80
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	100	25.22	R\$ 2,523.00
Non-Voting Shares	Buy	5-May	433	25.24	R\$ 10,928.92
•	•	•	71	25.25	
Non-Voting Shares	Buy	5-May		25.25 25.26	R\$ 1,792.75
Non-Voting Shares	Buy	5-May	127		R\$ 3,208.02
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	136	25.30	R\$ 3,440.80
Non-Voting Shares	Buy	5-May	146	25.31	R\$ 3,695.26
Non-Voting Shares	Buy	5-May	145	25.32	R\$ 3,671.40
Non-Voting Shares	Buy	5-May	121	25.33	R\$ 3,064.93
Non-Voting Shares	Buy	5-May	86	25.34	R\$ 2,179.24
Non-Voting Shares	Buy	5-May	109	25.35	R\$ 2,763.15
Non-Voting Shares	Buy	5-May	128	25.36	R\$ 3,246.08
Non-Voting Shares	Buy	5-May	144	25.37	R\$ 3,653.28
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	23	25.40	R\$ 584.20
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	22	25.43	R\$ 559.46
Non-Voting Shares	Buy	5-May	48	25.44	R\$ 1,221.12
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
_	•	•			

Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	55	26.10	R\$ 1,435.50
Non-Voting Shares	Buy	5-May	1	25.04	R\$ 25.04
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	73	25.20	R\$ 1,839.60
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	28	25.22	R\$ 706.16
•	•	•	29	25.22	R\$ 731.67
Non-Voting Shares Non-Voting Shares	Buy Buy	5-May 5-May	52	25.23 25.24	R\$ 1,312.48
_	•	•	8	25.24	
Non-Voting Shares Non-Voting Shares	Buy	5-May	37	25.25 25.26	R\$ 202.00
•	Buy	5-May			R\$ 934.62
Non-Voting Shares	Buy	5-May	21	25.27	R\$ 530.67

Non-Voting Shares	Buy	5-May	119	25.28	R\$ 3,008.32
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	132	25.30	R\$ 3,339.60
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	146	25.32	R\$ 3,696.72
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	86	25.34	R\$ 2,179.24
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	145	25.37	R\$ 3,678.65
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	71	25.70	R\$ 1,825.41
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.72	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
•		5-May	75	25.77	R\$ 1,933.50
Non-Voting Shares Non-Voting Shares	Buy	•	22	25.78	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.79	-
•	Buy	5-May	23 4		R\$ 594.09
Non-Voting Shares	Buy	5-May		25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11

Non-Voting Shares	Buy	5-May	55	25.94	R\$ 1,426.70
Non-Voting Shares	Buy	5-May	1	25.09	R\$ 25.09
Non-Voting Shares	Buy	5-May	1	25.22	R\$ 25.22
Non-Voting Shares	Buy	5-May	4	25.23	R\$ 100.92
Non-Voting Shares	Buy	5-May	21	25.24	R\$ 530.04
Non-Voting Shares	Buy	5-May	10	25.25	R\$ 252.50
Non-Voting Shares	Buy	5-May	37	25.26	R\$ 934.62
Non-Voting Shares	Buy	5-May	12	25.27	R\$ 303.24
Non-Voting Shares	Buy	5-May	27	25.28	R\$ 682.56
Non-Voting Shares	Buy	5-May	49	25.29	R\$ 1,239.21
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	145	25.31	R\$ 3,669.95
Non-Voting Shares	Buy	5-May	146	25.32	R\$ 3,696.72
Non-Voting Shares	Buy	5-May	122	25.33	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	30	25.38	R\$ 761.40
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	71	25.42	R\$ 1,804.82
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	45	25.44	R\$ 1,144.80
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	21	25.74	R\$ 540.54
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
1311 1511119 51141100	zay	zay	•	_0.0 !	φ .σσ.σσ

Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	16	25.88	R\$ 414.08
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	48	25.19	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	75	25.20	R\$ 1,890.00
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	28	25.23	R\$ 706.44
Non-Voting Shares	Buy	5-May	52	25.24	R\$ 1,312.48
Non-Voting Shares	Buy	5-May	8	25.25	R\$ 202.00
Non-Voting Shares	Buy	5-May	37	25.26	R\$ 934.62
Non-Voting Shares	Buy	5-May	20	25.27	R\$ 505.40
Non-Voting Shares	Buy	5-May	116	25.28	R\$ 2,932.48
Non-Voting Shares	Buy	5-May	199	25.29	R\$ 5,032.71
Non-Voting Shares	Buy	5-May	140	25.30	R\$ 3,542.00
Non-Voting Shares	Buy	5-May	145	25.31	R\$ 3,669.95
Non-Voting Shares	Buy	5-May	145	25.32	R\$ 3,671.40
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	86	25.34	R\$ 2,179.24
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	145	25.37	R\$ 3,678.65
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	•	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
G	Buy	5-May	70 70	25.41	R\$ 1,779.40
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	5-May	23 46	25.43	R\$ 584.89 R\$ 1,170.24
Non-Voting Shares	Buy	5-May		25.44	
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46 25.47	R\$ 483.74
Non-Voting Shares	Buy	5-May	20		R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	71	25.71	R\$ 1,825.41
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80

Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	54	25.94	R\$ 1,400.76
Non-Voting Shares	Buy	5-May	2	25.03	R\$ 50.06
Non-Voting Shares	Buy	5-May	1	25.04	R\$ 25.04
Non-Voting Shares	Buy	5-May	9	25.05	R\$ 225.45
Non-Voting Shares	Buy	5-May	52	25.07	R\$ 1,303.64
Non-Voting Shares	Buy	5-May	129	25.08	R\$ 3,235.32
Non-Voting Shares	Buy	5-May	101	25.09	R\$ 2,534.09
Non-Voting Shares	Buy	5-May	141	25.11	R\$ 3,540.51
Non-Voting Shares	Buy	5-May	84	25.12	R\$ 2,110.08
Non-Voting Shares	Buy	5-May	95	25.13	R\$ 2,387.35
Non-Voting Shares	Buy	5-May	39	25.14	R\$ 980.46
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	79	25.20	R\$ 1,990.80
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	99	25.23	R\$ 2,497.77
Non-Voting Shares	Buy	5-May	433	25.24	R\$ 10,928.92
Non-Voting Shares	Buy	5-May	70	25.25	R\$ 1,767.50
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	145	25.27	R\$ 3,664.15
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	137	25.30	R\$ 3,466.10
Non-Voting Shares	Buy	5-May	142	25.31	R\$ 3,594.02
Non-Voting Shares	Buy	5-May	150	25.32	R\$ 3,798.00
Non-Voting Shares	Buy	5-May	123	25.33	R\$ 3,115.59
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78	25.40	R\$ 1,981.98
TYON YOUNG ONAICS	ьиу	J-iviay	70	۵۶. ۲ ۱	1 (ψ 1,301.30

	_				- 4
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	24	25.43	R\$ 610.32
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
•	•	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy		72	25.70	R\$ 1,851.12
Non-Voting Shares	Buy	5-May			
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	35	25.73	R\$ 900.55
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	60	25.94	R\$ 1,556.40
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	Buy	5-May	4	26.01	R\$ 104.04
Non-Voting Shares	Buy	5-May	34	26.02	R\$ 884.68
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	55	26.10	R\$ 1,435.50
- 5	,	5ay			114 1, 100.00

	_				
Non-Voting Shares	Buy	31-May	10,000	22.80	R\$ 228,000.00
Non-Voting Shares	Buy	5-May	5	25.18	R\$ 125.90
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	71	25.20	R\$ 1,789.20
Non-Voting Shares	Buy	5-May	44	25.21	R\$ 1,109.24
Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	32	25.23	R\$ 807.36
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	35	25.26	R\$ 884.10
Non-Voting Shares	Buy	5-May	20	25.27	R\$ 505.40
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	204	25.29	R\$ 5,159.16
Non-Voting Shares	Buy	5-May	133	25.30	R\$ 3,364.90
•	•	•	144	25.31	
Non-Voting Shares	Buy	5-May			R\$ 3,644.64
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	126	25.33	R\$ 3,191.58
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	141	25.37	R\$ 3,577.17
Non-Voting Shares	Buy	5-May	33	25.38	R\$ 837.54
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	•	•	21		R\$ 537.39
•	Buy	5-May		25.59	-
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50

Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	27	25.91	R\$ 699.57
Non-Voting Shares	Buy	5-May	59	25.92	R\$ 1,529.28
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	53	25.94	R\$ 1,374.82
Non-Voting Shares	Buy	5-May	1	25.04	R\$ 25.04
Non-Voting Shares	Buy	5-May	9	25.05	R\$ 225.45
Non-Voting Shares	Buy	5-May	54	25.07	R\$ 1,353.78
Non-Voting Shares	Buy	5-May	129	25.08	R\$ 3,235.32
Non-Voting Shares	Buy	5-May	99	25.09	R\$ 2,483.91
Non-Voting Shares	Buy	5-May	143	25.11	R\$ 3,590.73
Non-Voting Shares	Buy	5-May	82	25.12	R\$ 2,059.84
Non-Voting Shares	Buy	5-May	97	25.13	R\$ 2,437.61
Non-Voting Shares	Buy	5-May	39	25.14	R\$ 980.46
Non-Voting Shares	Buy	5-May	32	25.15	R\$ 804.80
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	48	25.19	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	80	25.20	R\$ 2,016.00
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	28	25.22	R\$ 706.16
Non-Voting Shares	Buy	5-May	99	25.23	R\$ 2,497.77
Non-Voting Shares	Buy	5-May	432	25.24	R\$ 10,903.68
Non-Voting Shares	Buy	5-May	69	25.25	R\$ 1,742.25
Non-Voting Shares	Buy	5-May	127	25.26	R\$ 3,208.02
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	•	5-May	118	25.28	R\$ 2,983.04
•	Buy	5-May	198	25.29	R\$ 5,007.42
Non-Voting Shares Non-Voting Shares	Buy	•	139	25.29	
•	Buy	5-May			R\$ 3,516.70
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	147	25.32	R\$ 3,722.04
Non-Voting Shares	Buy	5-May	122	25.33	R\$ 3,090.26
Non-Voting Shares	Buy	5-May	84	25.34	R\$ 2,128.56
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	131	25.36	R\$ 3,322.16
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	27	25.38	R\$ 685.26
Non-Voting Shares	Buy	5-May	109	25.39	R\$ 2,767.51
Non-Voting Shares	Buy	5-May	24	25.40	R\$ 609.60
Non-Voting Shares	Buy	5-May	78	25.41	R\$ 1,981.98
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	24	25.43	R\$ 610.32
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24

Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	18	25.46	R\$ 458.28
Non-Voting Shares	Buy	5-May	19	25.47	R\$ 483.93
Non-Voting Shares	Buy	5-May	43	25.50	R\$ 1,096.50
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	37	25.72	R\$ 951.64
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	21	25.85	R\$ 542.85
Non-Voting Shares	Buy	5-May	19	25.86	R\$ 491.34
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	59	25.94	R\$ 1,530.46
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	37	25.99	R\$ 961.63
Non-Voting Shares	Buy	5-May	5	26.00	R\$ 130.00
Non-Voting Shares	•	5-May	5	26.00	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.02	R\$ 1,301.50
•	Buy	5-May	3	26.03	R\$ 78.12
Non-Voting Shares	Buy	•			
Non-Voting Shares	Buy	5-May	212	26.05	R\$ 5,522.60
Non-Voting Shares	Buy	5-May	51	26.06	R\$ 1,329.06
Non-Voting Shares	Buy	5-May	110	26.07	R\$ 2,867.70
Non-Voting Shares	Buy	5-May	57	26.08	R\$ 1,486.56
Non-Voting Shares	Buy	5-May	67 55	26.09	R\$ 1,748.03
Non-Voting Shares	Buy	5-May	55	26.10	R\$ 1,435.50
Non-Voting Shares	Buy	5-May	8	25.08	R\$ 200.64
Non-Voting Shares	Buy	5-May	90	25.09	R\$ 2,258.10
Non-Voting Shares	Buy	5-May	142	25.11	R\$ 3,565.62

Non-Voting Shares	Buy	5-May	82	25.12	R\$ 2,059.84
Non-Voting Shares	Buy	5-May	89	25.13	R\$ 2,236.57
Non-Voting Shares	Buy	5-May	9	25.14	R\$ 226.26
Non-Voting Shares	Buy	5-May	33	25.15	R\$ 829.95
Non-Voting Shares	Buy	5-May	6	25.16	R\$ 150.96
Non-Voting Shares	Buy	5-May	33	25.17	R\$ 830.61
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	48	25.19	R\$ 1,209.12
Non-Voting Shares	Buy	5-May	80	25.20	R\$ 2,016.00
Non-Voting Shares	Buy	5-May	42	25.21	R\$ 1,058.82
Non-Voting Shares	Buy	5-May	27	25.22	R\$ 680.94
Non-Voting Shares	Buy	5-May	27	25.23	R\$ 681.21
Non-Voting Shares	Buy	5-May	278	25.24	R\$ 7,016.72
Non-Voting Shares	Buy	5-May	67	25.25	R\$ 1,691.75
Non-Voting Shares	Buy	5-May	128	25.26	R\$ 3,233.28
Non-Voting Shares	Buy	5-May	148	25.27	R\$ 3,739.96
Non-Voting Shares	Buy	5-May	116	25.28	R\$ 2,932.48
Non-Voting Shares	Buy	5-May	200	25.29	R\$ 5,058.00
Non-Voting Shares	Buy	5-May	138	25.30	R\$ 3,491.40
Non-Voting Shares	Buy	5-May	141	25.31	R\$ 3,568.71
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	124	25.33	R\$ 3,140.92
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	142	25.37	R\$ 3,602.54
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	108	25.39	R\$ 2,742.12
Non-Voting Shares	•	5-May	24	25.40	R\$ 609.60
<u> </u>	Buy	5-May	78	25.40	R\$ 1,981.98
Non-Voting Shares	Buy	•	70	25.42	R\$ 1,779.40
Non-Voting Shares Non-Voting Shares	Buy	5-May 5-May	23	25.42	R\$ 584.89
•	Buy	•	46	25.43	
Non-Voting Shares	Buy	5-May			R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	20	25.54	R\$ 510.80
Non-Voting Shares	Buy	5-May	21	25.57	R\$ 536.97
Non-Voting Shares	Buy	5-May	20	25.59	R\$ 511.80
Non-Voting Shares	Buy	5-May	60	25.62	R\$ 1,537.20
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	54	25.65	R\$ 1,385.10
Non-Voting Shares	Buy	5-May	106	25.66	R\$ 2,719.96
Non-Voting Shares	Buy	5-May	80	25.67	R\$ 2,053.60
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12

Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	35	25.73	R\$ 900.55
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	74	25.78	R\$ 1,907.72
Non-Voting Shares	Buy	5-May	23	25.79	R\$ 593.17
Non-Voting Shares	Buy	5-May	22	25.83	R\$ 568.26
Non-Voting Shares	Buy	5-May	5	25.84	R\$ 129.20
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	25	25.89	R\$ 647.25
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	28	25.93	R\$ 726.04
Non-Voting Shares	Buy	5-May	59	25.94	R\$ 1,530.46
Non-Voting Shares	Buy	5-May	39	25.97	R\$ 1,012.83
Non-Voting Shares	Buy	5-May	38	25.99	R\$ 987.62
Non-Voting Shares	Buy	5-May	4	26.00	R\$ 104.00
Non-Voting Shares	Buy	5-May	5	26.01	R\$ 130.05
Non-Voting Shares	Buy	5-May	33	26.02	R\$ 858.66
Non-Voting Shares	Buy	5-May	50	26.03	R\$ 1,301.50
Non-Voting Shares	Buy	5-May	3	26.04	R\$ 78.12
Non-Voting Shares	Buy	5-May	213	26.05	R\$ 5,548.65
Non-Voting Shares	Buy	5-May	50	26.06	R\$ 1,303.00
Non-Voting Shares	Buy	5-May	58	26.07	R\$ 1,512.06
Non-Voting Shares	Buy	5-May	5	25.18	R\$ 125.90
Non-Voting Shares	Buy	5-May	49	25.19	R\$ 1,234.31
Non-Voting Shares	Buy	5-May	70	25.20	R\$ 1,764.00
Non-Voting Shares	Buy	5-May	45	25.21	R\$ 1,134.45
Non-Voting Shares	Buy	5-May	25	25.22	R\$ 630.50
Non-Voting Shares	Buy	5-May	32	25.23	R\$ 807.36
Non-Voting Shares	Buy	5-May	52	25.24	R\$ 1,312.48
Non-Voting Shares	Buy	5-May	8	25.25	R\$ 202.00
Non-Voting Shares	Buy	5-May	35	25.26	R\$ 884.10
Non-Voting Shares	Buy	5-May	20	25.27	R\$ 505.40
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	•	5-May	204	25.29	R\$ 5,159.16
•	Buy	•	132	25.29	R\$ 3,339.60
Non-Voting Shares Non-Voting Shares	Buy	5-May			
•	Buy	5-May	145	25.31	R\$ 3,669.95
Non-Voting Shares	Buy	5-May	148	25.32	R\$ 3,747.36
Non-Voting Shares	Buy	5-May	126	25.33	R\$ 3,191.58
Non-Voting Shares	Buy	5-May	82	25.34	R\$ 2,077.88
Non-Voting Shares	Buy	5-May	108	25.35	R\$ 2,737.80
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	141	25.37	R\$ 3,577.17
Non-Voting Shares	Buy	5-May	33	25.38	R\$ 837.54
Non-Voting Shares	Buy	5-May	107	25.39	R\$ 2,716.73
Non-Voting Shares	Buy	5-May	22	25.40	R\$ 558.80
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39

Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
•	•	•	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May			· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	5-May	105	25.66	R\$ 2,694.30
Non-Voting Shares	Buy	5-May	81	25.67	R\$ 2,079.27
Non-Voting Shares	Buy	5-May	22	25.68	R\$ 564.96
Non-Voting Shares	Buy	5-May	33	25.70	R\$ 848.10
Non-Voting Shares	Buy	5-May	72	25.71	R\$ 1,851.12
Non-Voting Shares	Buy	5-May	36	25.72	R\$ 925.92
Non-Voting Shares	Buy	5-May	34	25.73	R\$ 874.82
Non-Voting Shares	Buy	5-May	20	25.74	R\$ 514.80
Non-Voting Shares	Buy	5-May	29	25.77	R\$ 747.33
Non-Voting Shares	Buy	5-May	75	25.78	R\$ 1,933.50
Non-Voting Shares	Buy	5-May	22	25.79	R\$ 567.38
Non-Voting Shares	Buy	5-May	23	25.83	R\$ 594.09
Non-Voting Shares	Buy	5-May	4	25.84	R\$ 103.36
Non-Voting Shares	Buy	5-May	22	25.85	R\$ 568.70
Non-Voting Shares	Buy	5-May	18	25.86	R\$ 465.48
Non-Voting Shares	Buy	5-May	47	25.88	R\$ 1,216.36
Non-Voting Shares	Buy	5-May	26	25.89	R\$ 673.14
Non-Voting Shares	Buy	5-May	26	25.90	R\$ 673.40
Non-Voting Shares	Buy	5-May	28	25.91	R\$ 725.48
Non-Voting Shares	Buy	5-May	58	25.92	R\$ 1,503.36
Non-Voting Shares	Buy	5-May	27	25.93	R\$ 700.11
Non-Voting Shares	Buy	5-May	53	25.94	R\$ 1,374.82
Non-Voting Shares	Buy	5-May	6	25.18	R\$ 151.08
Non-Voting Shares	Buy	5-May	50	25.19	R\$ 1,259.50
Non-Voting Shares		5-May	71	25.20	R\$ 1,789.20
Non-Voting Shares	Buy	•	43	25.21	
•	Buy	5-May			R\$ 1,084.03
Non-Voting Shares	Buy	5-May	26	25.22	R\$ 655.72
Non-Voting Shares	Buy	5-May	30	25.23	R\$ 756.90
Non-Voting Shares	Buy	5-May	51	25.24	R\$ 1,287.24
Non-Voting Shares	Buy	5-May	9	25.25	R\$ 227.25
Non-Voting Shares	Buy	5-May	37	25.26	R\$ 934.62
Non-Voting Shares	Buy	5-May	18	25.27	R\$ 454.86
Non-Voting Shares	Buy	5-May	117	25.28	R\$ 2,957.76
Non-Voting Shares	Buy	5-May	201	25.29	R\$ 5,083.29
Non-Voting Shares	Buy	5-May	139	25.30	R\$ 3,516.70

Edgar Filing: BANK BRADESCO - Form 6-K

Nam Vatina Chaus	D	□ N A - · ·	4 4 4	05.04	D# 0 044 04
Non-Voting Shares	Buy	5-May	144	25.31	R\$ 3,644.64
Non-Voting Shares	Buy	5-May	144	25.32	R\$ 3,646.08
Non-Voting Shares	Buy	5-May	125	25.33	R\$ 3,166.25
Non-Voting Shares	Buy	5-May	83	25.34	R\$ 2,103.22
Non-Voting Shares	Buy	5-May	110	25.35	R\$ 2,788.50
Non-Voting Shares	Buy	5-May	130	25.36	R\$ 3,296.80
Non-Voting Shares	Buy	5-May	143	25.37	R\$ 3,627.91
Non-Voting Shares	Buy	5-May	29	25.38	R\$ 736.02
Non-Voting Shares	Buy	5-May	106	25.39	R\$ 2,691.34
Non-Voting Shares	Buy	5-May	25	25.40	R\$ 635.00
Non-Voting Shares	Buy	5-May	79	25.41	R\$ 2,007.39
Non-Voting Shares	Buy	5-May	70	25.42	R\$ 1,779.40
Non-Voting Shares	Buy	5-May	23	25.43	R\$ 584.89
Non-Voting Shares	Buy	5-May	46	25.44	R\$ 1,170.24
Non-Voting Shares	Buy	5-May	31	25.45	R\$ 788.95
Non-Voting Shares	Buy	5-May	19	25.46	R\$ 483.74
Non-Voting Shares	Buy	5-May	20	25.47	R\$ 509.40
Non-Voting Shares	Buy	5-May	42	25.50	R\$ 1,071.00
Non-Voting Shares	Buy	5-May	81	25.51	R\$ 2,066.31
Non-Voting Shares	Buy	5-May	19	25.52	R\$ 484.88
Non-Voting Shares	Buy	5-May	41	25.53	R\$ 1,046.73
Non-Voting Shares	Buy	5-May	21	25.54	R\$ 536.34
Non-Voting Shares	Buy	5-May	20	25.57	R\$ 511.40
Non-Voting Shares	Buy	5-May	21	25.59	R\$ 537.39
Non-Voting Shares	Buy	5-May	59	25.62	R\$ 1,511.58
Non-Voting Shares	Buy	5-May	8	25.64	R\$ 205.12
Non-Voting Shares	Buy	5-May	55	25.65	R\$ 1,410.75
Non-Voting Shares	Buy	•			
-	· ·				